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Topic:- Child Development & Pedagogy (CDP)

1) In what part of memory does chunking occur? / Fiﬁl' & o 1%@' o fder (WusH) ﬁ?ﬂ %?
1. Short term memory /ﬂg-fb—l?ﬁ:[ ?Ijﬁ

2. Long term memory / SreT-ahTelled FF[%

3. Sensory register / Tadr oEx

4. Working memory / el Fﬂcﬁ' (afdar A

Correct Answer :-

« Short term memory /?‘Iﬂ-ﬂ'ﬂ?ﬁq Fﬂﬁ
2) An anxiety disorder is characterized by / T fRidT faeR $r favar &

1. An excessive or aroused state characterized by feelings of apprehension, uncertainty, and fear. / U 3rafde a1 Iafsa fufa o i GHW, SfAfErear
3R 1 Bt UTgTST Y =T §1

2. Disordered thinking / ﬁ%’ IEGE
3. An emotional condition classified by excessive checking/ 3T ST ¢dR El?ﬁib_d Teh HIgTcHS TAfd|
4. An emotional state identified by panic attacks / 4 31w T golg A T HacHS ufd|

Correct Answer :-

« An excessive or aroused state characterized by feelings of apprehension, uncertainty, and fear. / T 3P a1 Iford fRUf o i 31T521Tﬂ, SffAfEraan
3R ug B yrgTaH Bt faear g1

3) A devoted teacher would adopt to arouse interest of the learners. / Th Tufta ﬁT&ﬁ? o ﬁT&ITQﬂ: B RIS F ﬁI'E
P AT I

1. Demonstrative methods / EI'C\"?FI' afer
2. Innovative methods / Faramrdr f3fer
3. Easy methods / 3TdTeT e

4, Direct methods / 9cge7 fafer

Correct Answer :-

« Innovative methods / sTar=RY fafer

4) variations in social values can be attributed to: / qrTfoIe 'H\(_'Cﬁ | dedid @I 3?%7 1%|1z ﬁrﬂﬁﬂ'ﬂ' Sl ST Jhdl %:
1. Reducing inequality / 3THTAAT &I HHA FHLAT

2. Social change / HTHATSTHR gRade

3. Social mobility / FTATTe ITfaeferar

4. Transmission of culture / F’Fﬂf»ﬁf HT FAIOT

Correct Answer :-

« Social change / HTHTTS® gRadeT

5) According to the view of a schema includes both a category of knowledge and the process of obtaining that knowledge. /

F DI F IR, TH WA & FF F T Joit 3R 30 JH & U H1 @) ufthar S i €
1. Jean Piaget /Gﬁqﬁ'cﬂ@f




2. Erik Erikson /T P 3&@?
3. Jerome Bruner / STIAT gﬂ'\r
4. Sigmund Freud / F9HE WIS

Correct Answer :-

o Jean Piaget / S ﬁm@r

6) Teachers have to deal with ______of learners. / IRI&BI B Rremff &t & gy Sa sA1 usar gl
1. Inclusivity / FATATRAAT

2. Diversity / fafaerar

3. Diverge / fa=rersT

4, Giftedness / FfraTerelr

Correct Answer :-

« Diversity / afaerar

7) Teaching Pedagogy Influences the performance of children as it enables the child i ﬁT&WT A A & ua‘szh 1 gHIfAT Pl %
FNfP 98 53 Y # Q& AT 21

1. to practice similar things again and again / JHI il BT TR-TR 31T B

2. to be more disciplined / Kty Wﬂm ?Fﬂ

3. to do more class work and home work / 3 BT BT (I a&) 3R 11’5’-$r€f (Epl'q a&) HAT
4. to listen and engage in learning / ST o g1 3R g el

Correct Answer :-

« to listen and engage in learning / Jferm § g7 3R T Ig

8) John uses clinical interviews in his class to know the problems of students. This shows his role as a i SATeT 3TlY T & ST Y
FAETST F AT & e Ao WraTedR #7139 FIa1Y | T§ 3T HRAFT R T A gafaT

1. Co-learner / Tg-femeff

2. Negotiator / EIGIEQES

3. Classroom researcher / &l 3cd¥ah
4. Facilitator / 9T1eTeh

Correct Answer :-

« Classroom researcher / &&TT 3ed¥h

9) Who proposed language and thought to be independent? / fFraar yearfaa fear fr maﬁtﬁmmgﬁ %7
1. Vygotsky / GTSINcaehT

2. Piaget / s

3. Kohler / geR

4. Chomsky / TTHETT

Correct Answer :-

« Chomsky / AT
10) Assessment for learning involves / 38T & 3TiholeT & MATE

1. sharing exemplars at different levels of success according to certain criteria /iﬂﬂ T8l *WW*%@WWWSE gIom Hffﬂ'lgﬂ
EXGI

2. providing grades or marks against students work / & Ak HHAF ARIT A3 AT 37 T HIAT



3. summative use of formative assessment / QMcHS J-I‘\(*Qidva-l T QIS ST

4. use of tests and exams/qff&TUTE-ﬁTfo&ﬂTa?rW

Correct Answer :-

« sharing exemplars at different levels of success according to certain criteria /in_tﬂq B *WW*%@HWW?‘E gXTT ol AT

11) Which of the following is not a teaching skill in inclusive education? / RFIfaf@d & ¥ FiaT FaATAM RNaw F v Rayor wterer At
4

1. Blackboard /W

2. Questioning / Y&dTS

3. Problem solving / THEIT HHTHTT
4. Reinforcing / g<e dT UdcTT

Correct Answer :-

« Blackboard / SiPEIS

12) When children learn to be aggressive because of exposure to violence in media, what type of learning is being displayed? / ST Te Aifzar &

o & ¥9F & et F FROT I3EES e Awd § A e vEwR w1 aftee wewlidia der ¥
1. Classical learning / Fellf&ehel 31T

2. Media learning / 33T 31feereT

3. Exploratory learning / J=aelt 3rfeere

4. Observational learning / TaReIYOTTcaA® 31T

Correct Answer :-

« Observational learning / fa2eISOTTcAs® 1fRIeTe

13) Intelligence quotient is / %E:ﬁf afser %‘

1. Chronological age/mental age x 100/ 2TRIRR g | AATES 3 x 100

2. Chronological age x 100/ Mental age / MRTReR 3 x 100 | AT g
3. Mental age x 100/ Chronological age / HTeIeh 3 x 100 / aRIRE g
4. Mental age/ Chronological age x 100 / AAS 3-T|'<’£l_; | AIRE 3-T|'~’£|_; X 100
Correct Answer :-

« Mental age/ Chronological age x 100 / ARAS :HTCOF | IR 3-TI'~’£_[ X 100

14) Learning happens when the child observes someone. This learning is known as ./ AT a9 g % 9 gouT fFEY # eae ¥
a@ar §1 5w At F: ¥ T A AT ST B

1. Operant conditioning / mrq'a\a Wﬂ
2. Trial and error learning / m—aﬁ 37T
3. Social learning / ATHTTSR TR

4. Insight learning / JaEfee feer

Correct Answer :-

« Social learning / ATHATTSTh 3TTEITH

15) Learners who have an earnest desire for academic competence are said to have a: / fremredt S AfdrE AeTan 3{[ oW 3% soor W § 37
FET AT &

1. Performance avoidance orientation/ J&2ieT lTﬁ"(s']T BFJgTsﬁWUT
2. Performance approach orientation/ el TiSeahioT Fﬁ'&hw



3. Work avoidance orientation/ ST IRER WWUT

4. Mastery orientation/ #HgRd ﬂ@w

Correct Answer :-

» Mastery orientation/ H#gRd ﬂ@m

16) Several abilities put together is known as ./ F% &THATHT $T U AT IW@T AT Fgalldl &l
1. Intelligence / ﬁaﬁ'

2. Interests / sRar

3. Attitude / HeATG T

4. Personality / qieded

Correct Answer :-

« Intelligence / gﬂﬁ'

17) How many sub-stages are there in the sensorimotor stage of cognitive development?/ TAETCHS e F Fdadale @or § fhda 39-a’or

g &

1. Seven / €I

2. Five / 9T

3. Six / &

4. Eight / 3T
Correct Answer :-
o Six /B

18) Which of the following is not a likely characteristic of a child whose parents are authoritarian? / T & @ #l9 ==

Rrerarorar A€ €, oS Aa-Rar sfeEsad @raiie i) §2
1. Unfriendly / IAT

2. Unsociable / TehIATIT

3. Independent / TadT

4. Withdrawn / 31?!3'5\_,@'

Correct Answer :-

¢ Independent / Tadq

19) Out-of-school programs allow middle school children to explore safe opportunities to form long-lasting relationships with adults outside their
families through ./ AT sE%A & 9g AeAfAE Aoy & awa f@ F ATIA ¥ I3 IRNART F 9 TIER F qT
N AT qF T a R a9 F A it st @ segafa &ar §)

1. pleasure and happiness / 31Teg 3R q%ﬁ
2. hardship and responsibility / a;%?ﬂg 3R SFeErRr
3. reading and writing for academic excellence / 3PIETHS 3cpscdr F forw ggar 3R fer@ar

4. independence, peer relationships, and leadership / TIAFAT, TghAT Tae 3R ?IFB-_CT

Correct Answer :-
« independence, peer relationships, and leadership / TIdAT, @ghAt Taer 3R ﬁaﬁ'

20) John is a student who is naturally aware of his personal emotions, feelings and motivation. According to Howard Gardner’s Theory of Multiple
Intelligences, which of the following intelligence does he demonstrate?/ SiteT T O § ST 39T g AT, T 3 W &
TEEfaE § ¥ I ¢ FES MR A AR AHw Adva sefaeiw (vEflE e & Rquia) & Ieen, 9w e 7 @ e
gefawer # el #ar 82

1. Interpersonal intelligence/ 3R dTTFcdh ﬂ?\'ﬁﬂ?ﬂ



2. Intrapersonal intelligence/ JRIagFas m?h_cﬁ
3. Visual-Spatial intelligence/ TRI-TUTTAHR E_l_;aﬁﬂ?ﬂ
4. Naturalistic intelligence/ TTHTTdeh S&fOrFr

Correct Answer :-

« Intrapersonal intelligence/ JaRdafFas m
21) Nature of children is: / ¥dT &Y QTﬁ' gy &
1. Destructive / BTH®RE

2. Imitative / Elg'ﬁ?:l'

3. Imaginative / ShedeITeilel

4. Constructive / JdeIlcHh

Correct Answer :-

o Constructive / {dellcHD

22) What is the purpose of learning according to Humanism? / ATddIdIg & HJaR sifere &1 32??11' 1 %?
1. To ace the standardised tests / qﬂw Uﬂ&‘l’Uﬁ Eal b=y (Uddh) A D ]%W

2. To fulfil one’s potential/ﬁw_{ff HI 1T Fr q FA & v

3. To become employable / ASHIRUH TAt & forw

4. To achieve financial security / Ta@TT GRE&T ured F F fov

Correct Answer :-

« To fulfil one’s potential / fRET ST & ar Ry T F fow

23) What is the name of the disorder characterized by an inability to carry out basic mathematical operations? / ®ifora arfordT HRFT3HT F Fr H
FEASAT GART TgA A aTe AHR T AT F47 872

1. Dyslexia / T3EIfaar

2. Dysmorphia / EAThar

3. Dysgraphia / T3 fth3m

4. Dyscalculia / %WHT

Correct Answer :-

+ Dyscaleulia / TSEherergferam

24) What animal was used by Thorndike in his experiment relating to operant conditioning? / qﬁlﬁ?ﬁ? CaRT ﬁTﬂTW‘\T-I' 31?_!,?11?{ ¥ geafa gaer
# g SEeR #1 v e a9

1. Rat / TgT

2. Dog / &l

3. Cat / foreelt

4. Pigeon / ShecX

Correct Answer :-

« Cat / fScel

25) What type of learning did E.L. Thorndike propose? / §. Tel. dTeis3® o fFW YR F H0TH &1 y&dET W@
1. Operant conditioning / ﬁF\’JTW(\?T HT:FW (3T FHreram)

2. Vicarious conditioning / WAfaifIeh 3efaierel (AshRad Hererfaian)

3. Classical conditioning / ATEAT JHe[aereT (FelliAehel HorRIfeiar)



4. Effect conditioning / JHTT 3-1@3?1?{ (3%heFe Sarfaa)

Correct Answer :-

+ Operant conditioning / TShTTIRYA 3TeTaereT (3HToke Srerfzian)

26) In language development, the structural organization of a sentence is known as /9T & R &, UF 9T F GAAcAS Haod &Y
& ¥ # AW A1 B

1. Phoneme / &Gl (F=iag)

2. Syntax / FreFafa=arg (FHeed)
3. Pragmatics / T2ITcHe (SIHTCH)
4. Morpheme / &O# (HTthaT)

Correct Answer :-

« Syntax / ATFIA=TE (F&eFg)

27) Identity versus Role Confusion happens between the ages of / TEaTe SoTTH HIAFT 0T g F dT g

el

1. Zero to three / [ =

2. Three to six / T & B

3. Six to eleven / B8 § IANE

4. Twelve to twenty / §Rg & I

Correct Answer :-

. Twelve to twenty / SRg & &I

28) Any change that happens due to is considered as learning. /
¥ FROT g ara forelt off aRader & arfterer axvem Smar 21
1. Injury / AC

2. Fatigue / gehlel

3. Maturation / IROGaFIdT
4, Practice / 3&I1H
Correct Answer :-

o Practice / 3TFIH

29) Which of the following is a cue for a teacher to understand the aptitude of the child towards learning? / I f@d & & FT v ReTw &
T e F yfa = i ATFaT F FHSAS FT T T &7

1. Students answering questions in class./ DT D& T 7Y BT IR %{ Q% %I

2. Student’s assessment records showing the amount of learning achieved. / 9T 3ipad Npls ITh GRIT Ihat TF.-’I = Bl _Q"E!'l% %I
3. Student giving innovative presentation of their work./ I 39T HH T A RAT ‘;l'\'-_sl’ﬁ & gl

4. Students doing their homework regularly. /o AafPa & 9 39T W T 1%' %I

Correct Answer :-

« Student giving innovative presentation of their work./ &I T FH Fr AT GR—T:I% & %I

30) which of the following theorists of child development is not allied to the stimulus response learning theory/ ST¢l fea s m
T} B 1 Rrgiaer, sae ufafpar siftrm Rigia & e 781 8:

1. Pavilov/ 9Tadlig



2.J.B.waston / ST.§V. gr@eT
3. Gesell / T
4, Hull / gel

Correct Answer :-

. Gesell/ VT

Topic:- General Hindi (L1GH)

1) SR Ad Gl A

AT § g@ g A

ofvr 3 ¥ o gt e
ofaat fr Ra-are et Awsmae;
F-gaY A @, N 7 W,
Faa & gl i A T dArea
st T g

qera §X S aror
ST A Gl AT

& g g

Ter § o dor9 ¥, AT ¥ T WA,
e € glsr q 3aem & AT
T 1 RO-RIT Fae Fegen §,
& AR & BN vw 1w Fow
St § gumet wfea

IHHT q HT Toi-
BT AG Tl A

BT g@ g Her

gRer-ga wrew ¢, Rwar ¢ 9y o
%E gEt @ W A7 & g@ T 3 |
g@ ¢ @ 9ic @em eI AW W,
FIT g4 S AT G [W-IHA A W2
St e o 39

FT q HfasT T,
BT AT Tl AT

BN T g A

IUGFT YSIIN FY GgHT oAl IS ST T FeT FT Sea) a3V
yeeT: FaeT & o g@l #1 YH@ FROT F4T §?
1.9 ¥ fate

2. FET T T 397

3. G & AT

4. AT Il T AT HA Eall

Correct Answer :-

- BHAT 37T A AG I ol
2) SR Ad Gl AT

AT ¥ g@ g A

s § o e et
ofaa i -y $ely Awsmast;



e AY @, AT a5 Aifed,
Faa & gl i A T dAiea
-3t T g

qarar §X S aror
ST AT Tl A

& g g

JU § o AN §, A § T WA,
e & aler q e & s
TIAT 1 AOT-Ra Faer Fprgeon ¢,
& afw § Bh v w7 Foow §)
s & Turd Hfea
FHFT  F TAA-
ST AT Tl A

BT g@ g Fe

gR-ga wrew ¢, Rwar ¢ 97 o
aE gEt 1 W A7 & g@ 7 3 |
g@ ¥ 7 97 @ We-TaT I W,
FIT g4 S AT G [W-IHA A W2
St e o 39

FT q AT T,
BT AG Tl A

BN Z g A

IUGFT YSIIT Y GgF oAl qF ST Tk §eT FT Sea) qa30l
TR FAT GIT A e qor Ak I W2
1. TS

2. did-s 8

3. qRE-AeH

4. RIRRHT

Correct Answer :-

3) o AT TAT A

BT ¥ g@ g A

ofvr 3 ¥ o gt e
iyt fr Ra-ar St Aeamaet;
aT-gaer v @, A 7 A,
Fad & qal $ AqG T g
-t T g

Farar g S avor
ST AT Tl AA

I g@ g A

o ¥ o A9 §, A § T WO
e & aler q saar & s
T[T HT RO el FETGS §,
& dfm # Bt v 7@ Foom 7
s & T Hfea
3HH J F A

BT A el Hel



o T g A

gRuTed wew ¢, Rwar ¢ 9y a@

¥ gEt & W AF & g@ T I AL

3@ ¥ 7 9l f@aT wWE-Ta dW W,

St o e o 3@

Fq HfasT o,

SR A Tl AA

M g@ g A

394FT YEIIT F GGFT A qF T qF YA FT e qAB0
T F & FER W g F 0 Fa ot g §2
1. U el I

2. TR

3. ART ¥R 3T

4, FTl STEel

Correct Answer :-

o TSF FHlell T

4) BET AF T A

BT § g@ g AT

ofeer 3 ¥ gor gt g
ofaat fir R-aier e Awsmae;
F-Ery AV W@, AT a§ A,
Faa F Fal H A T e
sel-W v garT
FaAT & ShfaT avor

R AG Gl A

oW T g A

o ¥ o A9 §, A § T WA
reem & g1 q 3 & s
THAT FT AROI-RIT Fae G §,
& O # B v T Foom #
St § Ty Fise

3AF T I

SR A Tl AA

BN T g A

gfaen-ea W ¥, fwar § 9w g
aF gEt 1 W A & g@ T I |
3@ ¥ 7 97 f@er We-Ta I W,
St o e e 3

F q AfasT o,

SR AG Tl AA

e @ g A

39T YEIIY F TGFT AT IF T qF WA FT el qAz0
weor: el afda Y aRE-Ud I W fFEd @ e &1 q@ @ar 32
1. 9ol &

2.9dig &



3.9 &
4, AR &

Correct Answer :-

)

. dlg &

5) BHT A T A

AT § g@ g A

Sfvr 3 ¥ o gt e
ofaat & Re-ay el ATsmaey;
-G AY @, i 7§ A=y,
Faa & Al f qg Il qree
-t T g

qarar §X S aror

SR A Tl AA

M g@ g A

o ¥ o A9 §, A § F qOIT
e & aler q saar & sram
THAT FT ARUI-RIT Fae FIIgSon §,
& G # Bt v 7@ Foom 7
s ¥ Ture Fee

IHHT J F T
ST AT Tl AA

v g g

gR-ga wew ¢, Rwar ¢ 9
& et @ W AF & g@ T I AL
3@ ¢ 7 9l @em eI A W,
FIT g7 S AT G W-IHA A W2
S 7 e e 3@

FT q sfasy v,
ST AT Tl AA

BT g@ g Her

3UGFT YSIRN Y GGH A1 qF T T §eA T e} qaA30
9o ‘SAT amswmﬁﬁramﬁqgﬁgan%?
1. R & foT

2. AfTsIq FreT & fow

3. IIAT A & v

4. g[cThTel & TAIw

Correct Answer :-

6) BRI AT Tl HA

AT § g@ g A

Sfvr 3 ¥ o gt e
ofiat # sy St FesTae;
aoT-garer v @, A 7 qifAd,
Faa & gal i A at diea
-3t T g

qdT g Shfad afor



ST AT Tl A
89T g@ g AT

U T dora &, AT § F WA,

e & gter q e & s

WIAT T ROT-RT Fae FIIgen §,

& 9RF # Bh vw va Fow B

s ¥ Ture Ffe

IHHT  F T

ST AT Tl AA

BT g gl A

gRu-ga wew ¢, Rwar ¢ o o

aE gEt Y W A7 & g@ 7 3 7|

3@ ¢ 7 9l @em eI AW W,

FIT g7 S AT G WIS A W2

St o e o 39

FT q sfasT v,

BT AG Tl A

BT g@ g He

3UGFT YSINN Y GgH ol IS T Tk §T FT e} qa30|
g A & AT U9 /A & A€ A F41 HAior A¥ @ A 87
1. 9T dr Irg

2. 99 F Ay

3. Sy @ AT

4. 38h ol &I gITer

Correct Answer :-

7) ST AT T A

BT ¥ g g A

ofer 3 ¥ gom gt gereh
ofaat A -y el Awsmast;
T AV W@, T w5 AAd,
Fad & qal $ Ag Tl g
-t T g

Farar g Shfaa aror

SR A Tl AA

eN g' gt AT

o ¥ o A9 §, A § F wOI
e & aler q saar & sramm
WOIAT T eROT-fdT Fae e
& & Bt v 7@ Foom 7
s ¥ 73U Ffee
IHFT J F T
ST AT Tl AA

8T g@ g AT

gR-ga wrew ¢, Rwar ¢ 9
¥ gEt @ W AT F q@ I 37 Jg
3@ ¢ 7 9l f@em eI AW W,



St o e o 3@

F q HfasT o,

R AT oAl AA

o 5 g A

39T YEII F GGFT AT qF T qF YA FT el a3
WeeT: 3U HiaaT A FA 7 FaF qw A aw@ f; 2

1. 37 aTell §AY

2.9 T " T

3. I g3 e

4. HfeaT g

Correct Answer :-

o FisT TATH

8) BHT Ad Tl A

AT ¥ g@ gl A

ofeer 3 ¥ gon gt g
el # -y el Aasmast;
a-gEry AY @, AT a§ A,
Fad & qel Y Aqg T Fige
-3t T gare
FaaT g Shfaa avor

R AT Gl A

BN T g A

o ¥ F A9 §, AW § T WA
raem & gt q 3@ & s
WIAT 1 AROT-Re Fae FpEIeon ¢,
w R § B v T Foom #
St & Ty Fise

3 q T -

SR AT Gl A

BN T g A

gfaen-ea W ¥, fawar § 9w g
¥ gEt @ W AT & @ F 37 A
3@ ¥ 7 9% f@er WeTa I W,
St o e o 3@

F q afasT o,

SR A Tl AA

o T g A

I9YFA TGIIT F GGH A I AW qTd WA FT 3o} TS
TeT: §H IS HAHT B FAT FIF AGT (@l AMRT?
L 8T A

2. 5018 &

3.818 &

4. 9ehg Y

Correct Answer :-

. TFE W



9) BT AT TAT A

BT ¥ g@ g A

Sfvr 3 ¥ o gt e

iyt fr Ra-ar Yot Asamaet;
aT-gaer v @, AT 7 q0fAd,
Fad & qal $ AqG T g
st T g

Fec g Shfad amor

ST AT Tl AA

I g@ g A

Ty § o e §, A § A AN
e & aler q saar & s
T[T HT RO el FEIGSO §,

& dfm # Bt v 7@ Foom 7

s & Tued Hfe

IFH q W oA

ST AT Tl A

v g g

gR-ga wew ¢, Rwar ¢ 9 o

¥ gEt @ W AT ¥ q@ I 37 agh
3@ ¢ 7 9l @em eI AW W,
FIT g4 S AT G [W-IHA A W2
S 7 e e 3@

FT q sfasT v,

BT AG Tl A

BT g@ g Fer

3UGFT YSIRN Y GgF A1 qF T T §eA FT e} qaA30
e e, do9 F fARed 3R F IRy A war?

1. 3fery
2. #Hgel
3,
4. Ui dr STATYSH

Correct Answer :-

10) SR AG T AT

AT § g@ g A

ofver 3 & e it o
iyt i Ra-arr Yot AaTast,;
-G AY @, i 7§ A=y,
Fad & qel $ AG Tl g
st T g

Farar g S aror

SR A Tl AA

BT W g AT

o ¥ o d979 §, A § T WO
foraar & aler q e & s



T FT RO-RIT Faar T §,

& & Bt v 7@ Foom 7

St & Ty Ffse

3 W I

ST AT Tl AA

v g g

gR-ga wew ¢, Rwar ¢ 97 @

i g & W AT F g@ F 37 A

g@ ¥ 7 9 @eT We-TdT I W,

FIT g4 S AT G I A W2

S 7 e e 3

FT q sfasy v,

ST AT Tl A

BT g@ g Her

3UGFT YSIRN FY GgFT A1 IS T T FA T e} qaA30l
vt REAd @ & Sraog e N e avE § @@ T A Rar$ qar?
1. §EAT & HROT

2. U & SROT

3. 34T FROT ¥

4. gfaem & RO

Correct Answer :-

11) SR AF T AT

AT ¥ g g A

v 3 # on gt e
ofat & Rty telt ATsmaeh;
- AY @, i 7§ A=y,
Fad & qell $ AG Tl g
st T g
FaAcT & Shfaa amor
BT AT TAT AT

¥ 3@ g A

o ¥ o d979 §, A § T WA
oraar & aler q e & s
THAT FT ARUI-RIT FaeT IS §,
& dfm # Bt v 7@ Foom 7
N § ad Few
IHH q F oA
ST AT Tl AA

M g@ g A

gR-ga wew ¢, Rwar ¢ o @
& gElt @ W A & g@ T I AL
q@ § 7 diq AT Wa-ud A W,
F1 &A1 S AT G H-THA A W2
St o e o 3

FT q sfasy v,

BT A el Hel



e @ g w

I9YFA GGIIT F GGHF A Y& A qTd WA FT e 19T

geet: e A TaEY (@ § Afhe A & e FAT gORI X g €7
1.3cHT8

2. f=far

3. @efr
=)

4549

Correct Answer :-

12) S/ #7F Feoll AT

AT ¥ g@ gl A

ofeer 3 ¥ gor gt g
ofaat fr Ra-are et Awsmae);
a-gEry AY @, AT a§ A,
Faa F FAl H A T dAiea
He-d v gareT

Farar g Shfaa afor
BT AT Tl A

BN T g A

Ter § o 3979 ¥, AT ¥ o AN
e & ater q e @ s
Tl T AROI-RIT e Fegen §,
O & B v T Foom #)
St & Tumet wfee

FIHHT q HT ToiA-
BT AT Tl AT

oW T g A

3F e @ W AT F g@ &7 3 72
3@ ¥ 7 9% R@er W I W,
FIT gAT S &A1 G [W-IHA A W2
St o e o 3

FT q HfasT T,

SR AG Tl AA

BN T g A

I9YFA TGIT F GGH A I AW qTd WA FT 3o a9
W: YA S[ahrer 1 A W el Igvae 1 sreww FAT 87
1.@3;@

2. et &

3. SO

4. g@g I

Correct Answer :-

o HIISUT

(AR

13)WTHHQ?TT-H'

AT ¥ g@ gl A



v 3 § on gt e
ofaal i Rty el Asmast;
a-gaier Av W@, fiq 78 A,
Faw & gal A A a st
e T garT
FaT & Shfad &7or

SR AG Tl AA

BN T g A

e ¢ o Ao §, A § T WA
R & ater q 37 & swmm|
THAT FT AROI-RIT Fae IS §,
& e # B v T Fom #
st & Turd wfsar

FHHT q H T

T AT oAl A

e @ g w

gRured wew ¢, Rwar ¢ 9y ad
& gt W AT & g@ F d A
3@ ¥ 7 i f@aT wWe-Ta I W,
St o fe o 3@

F AT o,
BT AT AT HeA

M g@ g A

394FT YEIIT F GGFT A qF T qF WA FT e a3
weeT: SiaeT FT X &7 FFEdr e AV @ Aar 82
1. felr of X 3EF

2. %ell &5 3aRl A e

3. 7T Fr enfa &1 @

4. ToRel ofe-T 3T AT e

Correct Answer :-

14) S/ AF Tl AA

BT § g@ ga AT

ofeer 3 ¥ gon gt g
ofaal A Ry el Asmast;
-G AV @Y, A 71 A,
FAd & Tal N AG TA Area|
se-W v I

FaraT g Shfaa avor

SR AG Tl AA

BN T g A

U ¢ o dug §, A § T WA
reem & gt q 3@ & s
THAT FT RO Fae TGS §,
& R # B v T Foom #
St & Turd wfsar



FEFT  F TAA-
BT AT Tl A

BN Z g A

gRe-ga wew ¢, Rwar ¢ 97 o

e gE Y W A & g@ T 34 |

g@ ¢ 7 9l @em eI A W,

FIT g4 S AT G [W-IHA A W2

St e o 39

FT q HAST T,

BT AT Tl AT

BN T g A

IUEFT YSIIT FY TgHT A1 IS S T FeA FT Sea) qaA30|

wea: ‘Shaw # § goor gt geraer, ¥ w7 #1 affwrr e 2
1. et @ =78

2. Sltaet T AR TFfadl @

3. gitee Tt &

4. eTaell H3T @

Correct Answer :-

15) BRI AG Tl A

BT ¥ g g A

Sheer 3 § gon gt e

iyt i R-arr Sl FesTas,;
aT-gaer v @, A 7 70fAd,
Fad & qal $ Aqg T g
-t T g

qarar §X Shfaa aror

ST AT Tl AA

8T g@ g AT

U T dora &, AT § T TIATT,
fraar & gler q e & s
WIAT T ROT-RT Fae FIIgen

& 9RF # Bht vw aa Fow B

s ¥ Ture Ffe

IWH q F ToI-

ST AT Tl A

BT g gl A

gR-ga wew ¢, Rwar ¢ 9 o
e gEt 1 W A & g@ T 3 a7l
3@ ¢ 7 9ic @em eI AW W,
FIT g7 S AT G I A W2
St o e o 39

FT q sfasT v,

BT AG Tl A

BT g@ g Fe

3UGFT YSIRN HY GgHT ol IS T aTk §T FT e} qa30|
WRST: BT Y T AT TS+ T ALY g F47 et §72



1. s
2. a9

5. gfm

4. QA

Correct Answer :-

16) faen, o, ST, Aifed, 4 iR o & i SRR F Fwar it SHifasadt 81 SRR $ FWAT B UTE B T HITel TeHT e & fae e +ft
ST YT T HHaT 8| 3T Tl & o301 A el Mgy, o Ifta ot srgya Rl wrea g1t 81 T 3iffres g &Y wiman @; faen &1 R Ria-A7 ga wirar 8,
for-Fa1 &1 W9 I[T ST T 14T 8; 9991 gU 81 A4l 8; aG® Pt a@-1 >H At 8; Ifd 991 a1d & 9 T s, T2 704 R T oy o1 ey SufRea
B ST 81 3TEROT $1 TaTHd UTHT el W gl 81 39 HINT HT F190g [ 3ad U=l arerm 81 399 AT & g oft 2reg 7e| 98 Tuareron Arg & gar oft
A 8, smerE a1 gon +ft sarer= & i fRyur 8, ¥ iman g o ¥ % {R & iR usT 81 9g 99l 31 e § SeRvr it qagar 14 U 9 et g% 8l
m%m,ﬁnaﬁvmw%wwmﬁwaﬁw%uhm@ﬂ%lﬁw%mﬂwﬁqwmumﬁwﬂﬁm%sﬁ?aﬁmmwmﬁ
a8l

= e, | e, 7 e, F "e, 7 i, 7 ufdnht, 7 3@, T 3ol 3-9m, 3-FRm, 3-wem, e sre $ R § HiF T oft, JARr wer yaiia gan awdt
T; 3% W O UG U 3R ufaar- o IR wiTa ®1 St $d [awgd gid & | 3@ SufRifa | 1 3R §ed F By Tea wid &1 e TR § s YA st
TR & T dIgal Bt geraic I ad g 9 & | IFEa= IR FY FAAGR §U TPV TSB! GHYHT e ad Hg b MG BT UF Fd & | TR0 & A7 &
TF Y A TE U & A7 W 1R F | SR F 3T | I R gait 3 uddl 99 F Ted T F @ §1 TR F HiH ARSI A 9 $) TH
a1 Sfta= uTe g 81 FA-T3 AR e € e a1 O ¥ | R Tt HaYd €1 8% 81 I § | @ U A o MR 7T 81 2 A7 frew §1 oo vardl & Wy vw
a1 #ft-uT9 Ee usdar 1 g4, 99, a1, I, URR, 9T, UTd, 7R, TR} 3R 9% a% | TP Yayd Yo 4fd & =1 g1 T & | e e Bt Hewr ga-i
qagdl, ga-t srfadt 3R ga- yHTaad! gt § for SUP WA FT AIGHTYT, FT AIRTHTT 3R 4T 3T &R BT YT 9 $1 T g5 Udld gell &1 37 PIg W
fosa 8, Fae SmaRor # AT HToT € STada B

ITIF T B UgHR A YD T YR BT Sk qaA13¢
W 3ITEROT Bl T T Wi gl 82

1. FI-Feq

2.3 A FIS A

3. FFIAHT T

Correct Answer :-

o IGATHT TS

17) faen, s, wfaa, A, o= iR Torea | o 3maRor Bt [gar fire SOfaeHdt 81 3TERUI B [T B UTE BIP TP HITa SATeHt Tensit &b fat w i
ST Y ST H T 8| 5T AT & o301 A el Aifged, ok Ifta ot srgya Fuf wrea &Yt 81 w1 siffres 1 &Y wiman 8; faenm &1 R Rig-A ga e 8,
FRrEr-er BT 9 T SATUR TR SITdT €; I9IT gU &) STaT 8; 9 P AW 47 w11 §; IS 99 a1 & qrA T8 S, T 999 R T 99 @1 ey IufRua
B ST 81 STEROT 3T FIATHT UTHT e Hi gl 8 1 39 HI6T HT F190g [ 3ad U= arer 81 396 Arars & g ot <reg 78| 98 Guameron g wvar o ot
A B, e a1 goi +ft sarer= & i fRyur 8, ¥ imar g o I & {R & iR usT 81 9g a9l 3t ey § SreRvr it qugar 14 U 9 et g8 8l
m%m,ansﬁ?mw%smvwaﬁwa?ﬁﬂm%m%ﬂaﬂwﬁﬂmmummm%aﬁ?aﬂﬁmmwmﬁ
STar gl

A e, | e, 7 e, T "ie, 7 gdf, 7 ufinht, 9 3@, T <ol -, 3-FRm, 3-uem, e srer F reERur § HiF = oft, JARr war yaiid gen et
T; 3% W A U U 3R ufaar- o AR iTa #1 St $Yd [avgd g &1 39w SufRifa | 1A 3R §ed P By gea wid & | eur TR F W YA st
TR & T dIgal Bt eraic I had g 9 & | I IR FY FAAGR §C TFY TS GHYHT e aud Hg b TG BT UF Hd & | TR0 & A7 &
TF HY A T U F A7 W A1 T 1 SR F 3T | IR S gai 3 uddl a9 F §ed T $ @ §1 TR F HiH ARSI A 99 $) T
a1 St uTe giaT 81 98- faeR T § vee g wd ¥ 1 g $Te Tagd 81 81 81 9 81 I $Ul A 9d HR ST 81 7 A7 fied 81 $ uerdl & 9
a1 B0-YT9 Be usdr 21 Y, 9, 91, I8, URR, 9T, UTd, 7R, TR} 3R 91a® a% § U Yaqd e 4T & o= g1 @ § | et aarenH @t wesn saei
qaqdl, ga-t srfadt 3R 3ot yHTaadt gkt § for SUP WA T T AIGUTYT, FIT AIRUTIT 3R T 30 &% BT UTYT TG $1 T Jo5 Udld glelt &1 37 PIg U
oo 7Y, ad 3meRr FT = T E SR8 B

UG TR B UgHR T TR Y ¥R BT IR q@gy
UR: Hadl TR P | HIaT ) 7T {2

1. e

2. reTd

3. TSR

4, AAIT

Correct Answer :-

. Seatrr

18) faen, e, Sfaan, Aifed, 4 R Tora & i SR Ft Fwar it sHifasadt 81 SRR 5t W1 S UTe S3% Th HITe e Iremmai & faat e oft
ST YT ST H AT 8| 5T Tl & o301 & el Aifeed, ok Ifta ot srgya Fufs wrea &t 81 21 siffres 0 @Y wiman @; fenm &1 R Rig-A7 ga wiman 8,
-t BT 9 T SATUR TR 1A €; I9IT gU &) SIaT 8; G P AW 4 w11 §; IS 99 a1 & qA T8 S, T 99 R T 59 @1 ey IufRea
B ST 81 3(TEROT $T FIATHT UTHT el HiF gl 8 1 39 W67 BT F190g [ Xad = arer 81 396 Arars & g ot <reg 78| 97 GwameRon g S gar ot
A B, e a1 goi +ft sarer= & i fRyur 8, ¥ irar g o I & WR & iR usT 81 9g a9l 31 fer § Smervr 3t wgar 19 U @ et g8 8l



m%m,awaﬁ?mw%wwmﬁwaﬁwa?ﬁmm%lm%mﬂwﬁqwmumﬁﬂwm%aﬁwﬁmmwmﬁ
St gl

A e, | e, 7 e, F "ie, 7 gdf, 7 ufdnht, 9 3@, T gRiof, -9, 3-FRm, 3-uem, e sre $ R § i Fofl, AR war yaiid gan awdt
T; 3% W O UG U 3R ufaar- o IR siTa ®1 St $d [aegd gid & | 39w SufRifa § 1A 3R §ed F By gea wid & | a0 TR § W YA i
TR & BT FIgal B geraidl A fad &) 9 &1 AHEII IRE Fg TR §C IOV SUS! YW 3ed a8 g P 3T BT UM $Id & | 3TER0 & 49 S
TF Y A T U F A7 W 1R T | SR F 3T | I FH gait 3R uddl 99 F Ted T F @ F 1 TR F HH AR A 9 $) TH
T Sfta= UTe g 81 7A-T3 AR e € e a1 R § | 8 Tt H9Yd €1 8% 81 9 § | @ U A o HR T 81 3 A7 frer §1 oo vardl & Wy v
a1 Bft-uT9 Ee usdar 1 g4, 99, a1, I, URR, 9T, UTd, 7R, TR} 3R I1a® a% ¥ TP Yayd Yo 4fd & =i g1 @a § | i e $t Hewt ga-i
qaadl, ga-t srfadt 3R 3ot yHTaadt gkt § for SUP WA FT AIGHTYT, FAT WIRTUTET 3R T 3T &R BT YT TG F1 T J5 Udld glell &1 37 PIg W
foea 8, Pae SmaRur B AT 4T € STada R

IUY TR BT UGHR 1Y T T U BT I« Iaz¢I

TR AIGUTHT, WIRTHTYT 3R 30 S P HTIT F7 Welld giell 872
L=

2.9

3 g

4. 38T

Correct Answer :-

19) faem, e, wfaar, a1t o= 3R o | o 3TERr F Jwgar fie SIS § 1 3TERUN B [T B UTE BIP TP HITa SATeHt Temsit & fat w
ST YT ST H T 8| 5T Tl & ST A el Aifged, ok Ifta ot srgya Rl wrea &t 81 T 3iffres g @Y wiman @; faenm &1 R Ria-A ga wiman 8,
- BT 9 T SR TR SITET €; I9IT gU &) STl 8; 3G 31 A1 4 ol §; IS 99 9 & 9rA T8 S, T2 99 R T oY @1 exg Sufkya
B ST 81 3TEROT $1 TIATHT UTHT el Hi gl 8 1 39 HIHT HT F190g [ 3ad U= arerm 81 396 Arars & g ot <reg 78| 98 TwareRron g wvar gar ot
A 8, e a1 goi +ft sarer= & i fRyur 8, ¥ irar g o ¥ & {R & iR usT 81 9g a9l 31 e § SeRvr it qgdr 14 U 9 et g8 8l
m%m,awaﬁ?mw%wvmﬁwaﬁwaiﬁmm%lﬁw%ﬁﬂmwuﬁmmumﬁﬂwm%aﬁwﬁmmwmﬁ
ST gl

A e, | e, 7 e, F "ie, 7 gdf, 7 ufdnht, T 3@, T 3ol -9, 3-FRm, 3-uem, e srer ¥ R § HiF = oft, JRr war yaiia gan st
T; 3% W O UG UH 3R ufaar- o IR iTa #1 $eurr $Yd [awgd g & | 3@ SufRifa ¥ 1 iR ged F By gea wid &1 Heur TR / Wi YA st
STERYT & T dIgal Bt eraic I haa g 9 & | I IR FY FAAGR §C TFY TSB! GHYHT e ad Hg & MG BT UF HId & | TR0 & A7 &
TF HY A TE U F A7 W 1R T | SR F 3T | I R gait 3 uddl 99 F Ted T F T §1 TR F HH AR A 9 $) TH
a1 St uTw giaT 81 8- faeR T i vee g wd ¥ 1 g P15 a9 81 81 81 9 €1 g $ul § 9d HR ST 81 7 A7 fied 81 o uerdl & 9 e
a1 Bft-u19 Ee usdar 1 g4, 9, a1, I, URR, 9T, UTd, 7R, TR} 3R I1a® a% ¥ TP Yayd Yo 4fd & =1 g1 @a § | i e it oewt ga-
qaqdl, ga-t srfadt 3R ga yHTaadt gkt § for SUP WA FT AIGHTYT, FIT AIRGUTET 3R 0T 37 &R BT YT TG $1 T J5 Udild glell &1 37 PIg U
for 98, Faa smERor Y /T uTwn § STada B

ITE TR B UgHR -1 U 7T Y= BT Sk ga1gy

7 fPast Hew Saad!, erdfadt 8k yHTaad wdld gt 82
1. ™Y

2. AleTwdr sarEarT

3. ATAROT

4. HeAIR

Correct Answer :-

o FHlawdr et

20) fen, oo, Hfaan, T, o= ik ToRa J ot SRR P Twar ifie saifasHd 81 SRR Wl I UTW $ TP ST e Iremai $ faa we oft
ST Y ST HH AT ¢ | 5T AT & o= & el, Aifeed, ok Ifta ot srgya fuf: wrea &Yt 81 3T siffres 1g &Y wiman 8; e &1 R Rig-A ga s 8,
-t BT 9 I ST TR 916 €; I9IT gU &) TaT 8; G P AW 47 W1 §; S 99F a1 & qA T8 S0, T 999 R T 919 31 ey Sufkea
T SITAT 8 | SITERVT Y aTHg | e W Tgdt &1 39 HINT BT f90g e Xad W= aral § | 398 Ara & g off vreg =161 98 wameror Arg $ear go ot
A B, SmerE a1 goi +ft sarer= & i Ryt 8, ¥ iran g o I & {R & iR usT 81 9g a9l 3t ey § Srervr 3t wgar 19 U @ et g8 8l
m,@m,ﬂnaﬁvamm%wvwaﬁw%ﬁﬂm@ﬁ%lm%aﬂaﬂwﬁﬂmmummﬁm%aﬁ?ﬁaﬁmmwmﬁ
EicIE]

S oran, 7 e, T dien, T e, 7 udf, 7 ufinh, 7 3@, 7 efemh, 3-9m, 3-FRm, 9-aem, fA=na e $ merer § HiF o, R Ter e g Hdt
?; 39 1 A vgd O SR ufdmrar-ae AR ST $1 S e [gd 819 €1 suat SufAfA [ 79 ok geg 9 By gea o €1 Freor Reft @ oo oA safd
TR & BT FTGel B geraidl A 2fad &) Jd &1 A IR Fy ARG §U TOY SUD! YT 3ed a8 g P 3T BT UM $Id & | 3TERY & 49 &
TP Y A TE U F A7 W 1§ 1 TR0 F 3T | I S gai 3 udal a9 F §ad T $3 @ B 1 SR & HiH ARSI § 99 31 T
a1 St wTe giaT 81 T3- faeR T § vee g9 wvd ¥ 1 g $Te 9agd 81 81 8 9 €1 8 $ul A 9d HR ST 81 7 A7 fired §1 o uerdl & 9 U
a1 8R-YTa Ee v 8| g, 9, 91, T8, TR, 9T, UTd, 7R, TR} 3R 916 d@ § Th AYaqd G qfd & o2 g1 @rd & | fet sarear @t wgwn sai
o, ga-t srdadt 3R 3o wuTaad! gt @ % SUS WHA FT AIGUTHT, T AIREUTHT 3R T 39 4 B YW 9 HY TG I3 Weild giel &1 39 SIS HIT
feoa €, Pae SmERor B AT IO € STEda R

ST TR Y TgHR A1 TR Y WA BT SR T
WEH: 3ITEROT & g YOI ) ga & FT a0 82

1. hael SIGER S5 A &

2. %ol SHY &Y Foll H IETS AT §



3. hael AYT-ell Selall dIgT
4. 39gFd Tl

Correct Answer :-

o 3ugeF gl

21) faem, war, s, Wi, o 37 Tora & oft SmaRor F1 Gt fte SifasHdt ] STERUI T JAr B YT b U I TeHT s & faat uv oft
ST YWY ST H T 8| 5T Tl & S0 A el Aifged, o Ifta ot srgya Fiufs wrea &t 81 21 3iffres gg &Y wiman @; faem &1 Rt Ria-A7 ga i 8,
-t 1 9 T SR T SITAT €; I9IT gU &) STl 8; 3G 31 Aw-! 4F ol §; IS 99 9 & 9rA T8 S0, T2 99 R T oY @1 exg sufRua
B ST 81 3TeROT $1 FIATHT UTHT el H gl 81 39 HIHT ST F190g [ 3ad U= arerm 81 399 Arars & g ot <reg 76| 98 TwareRon g wvar ga ot
A 8, e a1 goi +ft sarer= & i fRyur 8, ¥ Tiran g o ¥ & {R & iR usT 81 9g a9l 31 o § SeRur $t qagar 14 U 9 et g8 8l
m%m,awaﬁ?mw%wwmﬁwaﬁwa?ﬁmm%lm%%wuﬁmmumﬁmﬂﬁm%aﬁwﬁmmwmﬁ
St gl

= e, | e, 7 dar, F "ie, 7 gdf, 7 ufdnht, T 3@, T gfRiof, -9, 3-FRm, 3-uem, e srer F R § HiF = oft, JRr war yaiia gan awdt
T; 39 W O UG U 3R ufaar- o AR siTa ®1 ST $Yd [awgd g & | 39w SufRIfa ¥ 1A 3R §ed P By Tea wid &1 eu TR / s YA st
TR & BT FTgal B geraidl A fad &) 9 &1 AHEII IRE By TR §U TOU SHS! YW 3fed a8 g P 3T BT UM $Id & | 3TER & A9 S
TF HY A T U F A7 W SR T | SR F 3T | I FHR gait 3R uddl 99 F Ted T F T F 1 TR F WA ARSI A 9 P TH
a1 Sfia et BT 1 - R W € e 819 @ ¥ | g 1ve H9gd 81 X 8 O ¥ 1 g@ Wl A e R 3 31 T 3 fredt €1 o9 verdf S E T
a1 Bft-uT9 Ee usdar 1 g4, 99, a1, I, URR, 9T, UTd, 7R, TR} 3R I1a® a% ¥ TP Yayd Yo 4fd & =1 g1 wa § | i e it Hewt ga-i
qaqdl, ga-t srfadt 3R 3ot yHTaadt gkt § for SUP WA FT AIGHTYT, FAT WIRGHTET 3R T 37 &R BT YT 9 $1 T J5 Udld gell &1 37 PIg W
fesa 8, Fae SmERur B AT 4O € STEda B

ITE TR B UgHR 14 U 7T Y= BT Sk gargu

U: T, &1, W SR SERAT 6 F GG WA B HITT F FT1 872
1. AT caTEAT

2. HER Aoy

3. AYIAT & AT

4, 3T STHIOT

Correct Answer :-

. HAleT TR

22) e, wan, Siaar, T, o= 3R Towg A ot SmeRur B wwar Sftre SHifasad 81 TR B FWar B UItd S U ST Teu! Iensh & el we ot
ST Y ST HH AT 8| 5T AT & o1 & el Aifged, ok Ifta ot srgaya fufs: wrea a1t 81 T siffres 1 &Y wiman 8; e &1 R Rig-A7 ga s 8,
-t BT 9 T ST TR SITaT €; I9T gU &) SIaT 8; G P AW 4 w11 §; IS 99F a1 & qiA T8 S0, T 999 R T 99 31 ey IufRea
T SITAT 8 1 S{TERVT Y IaTag HINT el W Tgdt &1 39 HINT BT f90g Yo Xad W= araT § | 399 1| & g off vreg =161 98 wameror Arg $ear ga ot
T4 B, e at goi +ft e & i fRyur 8, w0 iran g o I & {R & iR usT 81 9g a9l 3t ey § SreRor it wgar 19 U @ et g8 8l
m%m,ﬁﬂaﬁ?mm%?wvwaﬁwa?ﬁﬂmﬁlm%aﬂaﬂwﬁﬂmmummﬁm%aﬁvwﬁmmwmﬁ
EiciE|

= o1an, 7 e, 7 dien, 7 e, 7 qdf, 7 ufinh, 7 3@, 7 efemh, 3-9m, 3-FRm, 3-aem, fARna e $ merer § HiF o, R Ter e g Hdt
?; 39 1 A vga U SR ufmrar-a IR ST 31 S e [gd 819 €1 sut SufAfA [ 79 ok ged @Y By gea o €1 Feor eft @ s oA safdy
TR & BT FTgal B geraidl A fad & Jd &1 A IR Fy TR §C TOU SUP! YT 3fed a8 g P TG BT UM $Id & | 3TER0 & A9 &
TP HY A TE U F A7 W 1R T 1 TR0 F 3T | I S gai o udal a9 F §ed T $3 @ § 1 TR & HiF ARSI § 99 31 T
a1 St wTw giaT 81 98- faeR T i vee g9 e ¥ 1 g $Te wagd 81 81 8 9 €1 8 $ul A 9d HR ST 81 7 A7 fired §1 o uerdl & 9 U
a1 8R-UTa Ee v 8| g, 9, 91, T8, TR, U1, UTd, 7R, TR} 3R 910 d § Th AYaqd G qfd & o2 g1 @rd § | fet sarear Bt wgwn sai
o, ga-t srfadt 3R gai wuTaad! gt @ % SUS WHA FT AIGUTHT, T AIREUTHT 3R T 39 ¥ B YW 9 H TG 75 Weild gial &1 39 SIS HIT
oo =1EY, aa ameRr F1 = T E SR B

ST TR Y TgHR 1 TR Y WA BT SR T
U I TeHY romei F e W Far s "o g2
1. 98

2. Heih

3.&ar

4. 9ATq

Correct Answer :-

23) faen, oo, Hfaa, T, o= ik ToRa J ot SRR P wwar ifie saifasHdt 81 SRR Wl S UTW $ TP ST e Iremai $ faa uw oft
STT WY T Hhell B 5 T F o= A Fal, Wifew, o7 Tia &1 srgya Rl wre g1 81 2 eifires 9g &t wiman @; faen &1 fiery Rig- ga s g,
-t BT 9 I ST TR 916 €; I9T gU &) SIaT 8; G P AW 47 W11 §; S 99F a1 & 9A T8 S0, T 999 R T 99 o1 ey sufRea
T SITAT 8 1 S{TERVT Y ATy HINT el W Tedt &1 39 HINT BT f90g e Xad U= aral § | 399 1| & g off vreg 1€Y1 98 wmeror Arg $ear go ot
T B, e a1 goi +ft e & i fRyur 8, ¥ iran g o I & {R & iR usT 81 9g a9l 3t ey # Sreror 3t wgar 19 U @ et g8 8l
m,@m,ﬁnehmm%wwmaﬁw%ﬁqmﬁ%lﬁm%iﬁﬁmuﬁmﬁmumﬁm@nﬁ%ﬁ%ﬁ?mﬁmmwma
EicIE]



A 1a, 7 e, T dien, T 9, 7 qdf, 7 uf3h, 7 3@, 7 afeoh, 3-9m, 3-FRm, 3-aem, fawna sren $ smerer @ 1 ol AR e vaia gon st
¥; 39 W1 Q vgd 39 SR ufmrar-uw AR ST &1 ST B [ 1d 81 3@ SufAfa | 77 3R ged 9 By gea o g1 Fieor et & s 4R s
JTERVT F BT qTeal P1 garaidl O Lad &) a1 & | AEIE~ IRE Fy TG ¢ GOV THB! YT 3T aid g P 3G BT UM B & | TR0l & 79 &5
T Y A T WX & A7 HRT o1 €1 SATROT & 3MTHg-Td o SATW] geh” Feil 3R uddl a% & gad Iod $I T & | TRl & HiF AR & U B Th
a1 e yTw g 81 -2 R W@ @ yee 819 v €1 g@ $Tve Tahd € 8 8 9 &1 g SO § 9 R 3741 81 7Y A e €1 o uerdl & iy ue
a1 8- YT9 Be Usar 8| g, 9, 91, I, TR, U1, UTd, 7R, TR} 3R 910 a@ § T %aqd Gox 44 & o= g1 @rd & | et sarer @t wgs gai
qaraet, ga-t srfadt SR 3o wuTaad! gt @ i SUP WHA T AIGUTHT, T AT 3R T 3= S B YTV G BT 0T 75 Wil gial &1 37 BT T
oo =Y, Paw mERur B AT UTHT € STada Bl

ITY T B UgHR 1A ID T YR BT Sk T3¢
W W A W 3 A1 graT BT Seuru B o1 81 87
1 o

2. 37gaRd

3. R

4 P

Correct Answer :-

24) e, oo, fadr, T, o= 3R T A o SR B T e SHifasad 81 TR B Gl B T S U HITd TeH! Iemai & el we ot
YT YY T TPl & | §H TIal & 2 A Havl, Fiiee, 3R Tifid &1 sigya Rif wre gkt 31 T ifres 71g 8 siren 8; e &1 it R ga wman 8,
FRr-waT &1 i I AT T ST §; I99T gU 6 ol §; A Bt A@ 4H Al §; Gl a9 ad & e T s, T 0 3R T oY o Tva SufRa
B ST | STEROT BT FRATHY UTHT TSI WA gl § 1 39 UTHT HT fEvg Y Tad U5 arer 8 1 398 A & e oft wreg 76t 1 a8 qaameror g wear gam o
T 8, ARSI &t gaim ft saren & Wi fRyur 8, I07 e gaim oft I & R F iR vt 1 Ug Il B oy F STaRvr Bt T 19 U 3 gl §¥ 81
m%w,ﬁwaﬁvmw%mwwaﬁw%ﬁqwﬁlﬁw%mwﬁqwmuwﬁﬂwm%aﬁ?wﬁmmwmﬁ
EIGIE

A o1a, 7 e, 7 dien, T "be, 7 qdf, 7 uf3h, 7 3@, 7 afeoh, 3-9m, 9-FRm, 3-aem, fawna sren $ smerer @ Wi ol gaiR aer vaia gon st
?; 39 W | URIE U 3R UfraT-en AR ST BT HeTul 3o fAgd gid & | 39! IURRATT | 77 3R g B Fg 9o 91 &1 Hevr Tedt I o oA wafd
STERYT & P TGl Bt eraicl I ad & Ad & | AHHI IR Fg FAAGR §U GOV HB! AT 3ed aHd g b MG BT UIH B & | TR0 & AT &
T 31Y A T WR F A7 HRT 9 &1 eR1 F SE-T | SHIAW] FidR gait 3R uddl 9% & ged T B W § | SRl F W I & A FY UF
a1 Sia yTw g 81 -2 R W ) gee g o €1 9@ $Tve Tahd € 8 8 9 &1 g SO A 9T R 3M7aT @1 7 A e €1 o uerdl & iy ue
71 A0- Y19 Be Usar 8| g, 9, 91, TN, TR, 9T, UTd, 7R, TR} 3R 910% a9 W U 34aqd o3 44 & o= g1 @ & | et SR $t wew gai
qaraet, ga-t srfadt SR 3o wuTaad! gt @ % SUP WHA T WIGUTHT, T WIRTUTHT 3R T 3= S B YW G BT 0T T3 Wil gial &1 37 BT I
oo =Y, Paw R B AT yTHT € STada Bl

ITY T B UgHR 1A ID Y YR BT Sk T3¢
W : frem, e, Sfaar, Wit & st saifosrd @@ &2
1. Riggemé we=zrar

2. GSAA-GRIA

3. 3TTeROT $r FFIAT

4, AR T FEIAT

Correct Answer :-

o 3TEROT fI FFIr

25) e, war, Siaar, T, o= 3R Torg A ot SR B e Sfie SHlfasad 81 TR B FWAT B Tt $3 U HITd TeH! Iomsi & el we ot
ST YWY T APl ¢ | 57 Tl & o= | bel, g, SR Wia &1 srgye fufes wrea gt 81 07 3iftrer 9g €Y wiran §; faenm o1 R Rie-37 g s g,
Fr-war &1 5 I AT TR ST §; a1 YU ) o §; A Bt Aw 47 At §; gfd a9 ard & e T s, T T ok T ofd o v SufRia
B SITT B | STEROT B FRIATHY UTYT TSI A gl 71 390 UTHT FT fEvg Y Tad U= are 8 1 398 A & e oft wreg 761 a5 qameror g wwar gam o
W R, Erer 31 gan Wt e & Wt fut €, I Tirer ganm it I & R & ofieR Ut 81 Hg gl A RIS § ameRr Y it HiF w0 @ gl g8 21
m%m,ﬁwaﬁ?mw%wwmﬁwaﬂw%?ﬁmmilm%%wﬁmmumﬁwﬂiﬁm%aﬁwﬁmmwmﬁ
Eici|

= e, | e, 7 fan, T Te, 7 g, 7 ufieh, 7 3@, T gfof, 3w, -Fmm, 3-uem, e sre $ R § HiF Foft, ARy wer vaiia gan et
2 TS W A IR I 3R Ui e R ST BT Searor SRS A g €1 sHet IufRUR A 7 3R gea $Y Bg ea o §1 deu Rt | 9 YR st
STERT & T IIgal Bt geraicl I ad & Ad & | AHHG IR Fg FAAGR §U TPV TSB! GHYHT ed a8d Fg b MG BT UIH B & | TR0 & A9 &
T 31Y | W W F A7 WRT 9 §1 3eRr F SHrg-T | SIS FiaR gaft 3R uddl 9% & §ed T B W § 1 SRl F Wi IR | 7S B TP
T SHta wTe gt 31 - e e € uehe E1R I B 1 I TS Hed §1 8Y 81 S €1 O 1 A o W’ et 21 Y 37 e 81 pat uardf & 9y v
a1 Fft-uTa B usar 81 g, 5, a1y, N, URR, U, UTd, R, T 3R qTae 9% A TP Ayaud e 9f b 32 81 @ ¥ dieedt sarene Y wew gah
qagdl, ga-t srdadt 3R ga uHTaad! gkt § fF SHS AR TT AIGHTYT, FT AIREHTT 3R T 30 &1 $T HIYT 99 BT J9 g5 Wdid gl &1 39 $Ig W
feor €, Faa SR B AT T § SR B

ITY T B UgHR 1A YD T YR BT Sk T3¢

o <feur TR | ST A fR SireRT & i o7 & e g Wi 82
1. 96 e &

2. @ f@es &

3. AGH-ICE ¥



4. e aeeit B e @

Correct Answer :-

26) faen, oo, S, T, o N7 ToRa | ot SRR P Twar ifie saifasHd 81 SRR AT B UTE Hd TH BT e Iremai F foat uw +ft
ST FYT ST TH AT 8| 3T Tl & o301 & el Aifged, ok Ifta ot srgya Rl wrea &t 81 2T aiffres g @Y wiman @; fem &1 R Ria-A7 ga wiman 8,
-t BT 9 T SATUR TR SITAT €; I9IT gU &) STl 8; G B AW 47 w11 §; IS 99 9 & qrA T8 S0, T 99 R T oY @1 exg SufRua
B ST 81 3TeROT 31 FIATHd UTHT el Wi gl 8 1 39 HIHT BT F190g [ 3ad = arerm 81 396 Arars & g ot <reg 78| 98 Twareron g wver gar ot
T 8, SrerE a1 goi +ft sarer= & i fRyur 8, ¥ iran g o ¥ & R & iR usT 81 9g a9l 3t e § SeRur it qugar 14 U 9 et g8 8l
m%m,ﬁnsﬁ?mw%?wvmﬁmaﬁwa?ﬁmm%m%%wﬁhmmumﬁwmﬁﬁm%aﬁvamﬁmmwamﬁ
SRl

A e, | e, 7 e, T "ie, 7 gdf, 7 ufdnht, 9 3@, T 3ol 3-am, 3-FRm, 3-uem, e srer F R § HiF = oft, JRr war yaiia gan et
T; 39 W A UG U 3R ufaar- o AR iTa @1 $eurr $3d [avgd g & | 3w SufRifa | 1 3R ged F By Tea wid &1 g0 TR / s YA st
TR & T dIgal Bt geraic I haa g 9 & | I IR FY FAAGR §C TFY TS GHYHT e aud Fg b TG BT UF Fd & | TR0 & A7 &
TF HY A TE U F A7 W AR T | SR F 3T | I FH gait 3 uddl 99 F ged T F T § 1 TR F WA ARSI A 9 $) TH
a1 St UTw giaT 81 8- faeR T § vee g wd ¥ 1 g P16 W99 81 8 81 9 €1 g $Ul A 9d HR ST 81 7 A7 fired §1 o uerdl & 9 v
a1 BR-YT9 Be usar 21 Y, 9, 91, I8, URR, 9T, UTd, 7R, TR} 3R 910 a@ W U Yaqd v 4fd & o= g1 @ § | et aarenH @t wes sa-i
qaqdl, ga-t srfadt 3R 3ot yHTaadt gkt § for SUP WA FT AIGUTYT, FIT AIRUTIT 3R T 3T &= BT YT TG BT T J5 Udld 8ol &1 37 PIg U
foea =8, Fae SmERur B AT 4O € STEda R

UG T B TghR H2 TR Y ¥ BT IR qargq
UH: T UGTdT & HIY T 791 e Sl 82

1. arg-3Ta

2. qFT A1

3. #{Ar-ama

4. 9&T HAIT

Correct Answer :-

o -

27) faen, oa, Hfaa, T, o= ik ToRa J ot SRR P g ifte saifasHdt 81 SRR Wl S UTW S TP ST e e $ faa ww oft
SUT WY T Fhell 81 5 T & o= A Fal, Wifew, o7 Tia &1 srgya Rl wre g1t 81 2 eif¥res 9g &t wiman @; faen &1 fiery Rig- ga s g,
-t BT 9 T ST TR SITaT €; I9T gU &) SIaT 8; A B AW 4T W11 §; S 99 a1 & 9iA T8 S0, T 999 R T 919 @1 ey SufRea
T SITAT 8 | SITERVT Y ATy HINT el W Tgdt &1 39 HINT BT f90g Yo Xad U= aral § | 398 1| & g off vreg 1€Y1 98 wameRron Arg $ear go ot
4 B, e a1 goi +ft sarer= & i fRyur 8, ¥ iman g o I & R & iR usT 81 9g a9l 3t e § Serr 3t wgar 19 U @ et g8 8l
m%w,ﬁﬂeﬁ?mm$wwmaﬁw$ﬁqmﬁﬁlﬁm%iﬁﬁmﬁﬁmﬁmummm%aﬁ?mmmwma
EicIE]

A ora, 7 e, T dien, T e, 7 qdf, 7 ufinh, 7 3@, 7 efemh, 3-9m, 3-FRm, 3-aem, fa=na e F merer @ HiF S oh, R Ter vHiid g HRdt
?; 39 | A vgd O SR ufdmrar-ad AR S 31 S e fgd 919 €1 suat SufAfA [ 79 ok geg @Y By gea o €1 Freor Reft @ s oA safds
TR & BT FTGel B geraidl A 2fiad 8 Jd &1 A IR Fg MG gU TOY SD! YT 3ed a8 g P TG BT UM $HId & | 3TERY & A9 &
TP Y A T U F A7 W1 10§ 1 SHTERY1 F 3-8 | I S gai 3 udal a9 F §ad T 3 @ § 1 SR & HiF ARSI § 99 31 T
a1 St wTe giaT 81 T3-1 faeR T § vee g9 e ¥ 1 g $Te Wagd 81 81 8 9 €1 8 $ul A Od HR ST 81 7 A7 fred §1 o uerdl & 9 U
a1 8- YTa Ee v 8| g, 5, 91, T8, TR, 9T, UTd, 7R, TR} 3R 910 d § T AYaqd o qfd & o2 g1 @rd § | fet sarear Bt wgsn sai
o, ga-t srfadt 3R 3o wuTaad! gt | % SUS WHA FT AIGUTHT, T AIREUTHT 3R T 39 X B YW 9 B T I3 Weild gial &1 39 SIS HIuT
oo =1EY, Faa R B /T YT § ST R

ST TR Y TFHT I U Y IR BT IR TSy

U 39 9Wdl $ %04 § HaT, i, 3R Tia &1 @ ure gidt 82
1. e fefer

2. T T

3. a%g o

4, 7T T

Correct Answer :-

- 3o facfa

28) faen, wa, S, T, o= ik ToRa J ot SRR P e ifie saifasHd 81 SRR Wl S UTW $ TP ST e Iremait & faa w oft
STT WY ST Thell 81 50 T & o= A Fal, Wifee, 3R Wia &1 srgya fiufes wre g1t 81 2 eif¥res gg & wiran @; faen &1 Fiery Rig- ga s g,
-t BT 9 AT SETUA TR SITdT €; I9IT gU &) SIaT 8; O B AW 4 w11 §; T 99F a1 & 9iA T8 S0, T 999 R T 99 @1 ey sufRia
T SITAT 8 | SITERVT Y ATy HINT el W Tgdt &1 39 HINT BT fE0g e Xad U= aral 8 | 398 1| & g off =reg 1€Y1 98 wmeRror Arg $ear go ot
T B, e ot goi +ft sarer= & i fRyur 8, T iran g off I & R & iR usT 81 9g a9l 3t ey § SmeRur it wgar 19 U 9 et g8 8
m,;m,ﬁwaﬁvmw%wwmaﬁm%ﬁqmﬁ?lﬁw%iﬁﬁwﬁﬂmmummm%aﬁ?a’mﬁmﬁwmﬁ
EicIE]

S 1a, 7 e, T §ien, T e, 7 udf, 7 ufinh, 7 3@, 7 efemh, 3-9m, 3-FRm, 3-aem, faRna e F marer § HiF wol, AR ger e g st
?; 39 1 A vga O SR ufmrar-and AR ST 1 S e fgd 919 €1 suat SufRAfA [ 79 ok geu 9 By goa o €1 Freor el @ oo oA safRr



STRUI & BT FTGal B geraidl A fad &) 9 &1 AHEII IRE By TR §C IOV SS! YWY 3ed a8d g P 3T BT UM $Id & | 3TER0 & 49 &
TF Y A T U F A7 W 1R F | SR F 3T | I R gait 3R uddl 99 F Ted T F @ §1 TR F HH AR A 9 $) TH
a1 Sfta= uTe g 81 7A-3 AR a4 € e 8 O | 8 Tt H9Yd €1 8% 81 I § | @ U A o HR 7T 81 2 A7 few §1 oo vardl & Wy vw
a1 #ft-uT9 Ee usdar 81 g4, 99, a1, I, URR, 9T, UTd, 7R, TR} 3R I1a® a% ¥ TP Yayd Yo 4fd & =i g @ § | e SRerH it Hewt ga-
qaqdl, ga-t srfadt 3R ga yHTaad! gt § for SUP HIHA FT AIGHTYT, FT AIRTHTIT 3R T 3T &R BT HIYT U BT T G5 Udld glell &1 37 PIg W
fosa 81, Pae SmERur B AT 4T € STEdT R

UG T B UghR T TR Y YA BT IR qagy
W W SIS BT WHTE T gl 82

1. GPRIcAS

2. e

3. APNTHF

4. 31T

Correct Answer :-

. FoRETRY

29) faen, oo, Hfaar, TR, o N7 ToRa |t SRR P FIgar it saifasHd 81 SRR AT I UTE Hh TH BT TeHT e F foa o +ft
ST YY1 GH T 8| 3T Tl & G301 & el Aifged, ok Ifta ot srgya Rl wrea &t 81 T 3iffres g &Y wiman @; faem &1 R Ria-A7 ga wimar 8,
-t BT 9 I SR TR SITAT €; I9IT gU &) STl 8; 9 3 A1 4F o1l §; IS 99 9 & 9rA T8 S, T2 99 R T oY @1 exg SufRya
B ST 81 3TeROT $1 FIATHT UTHT el W gl 81 39 HIHT HT F190g [ 3ad U= arerm 81 399 Arars & g ot <reg 76| 98 GuareRon g wvar ga ot
A 8, e a1 goi ot sarer= & i fRyur 8, ¥ irar g o ¥ & {R & iR usT 81 9g a9l 31 e § SeRur $t qugar 14 U 9 et g8 8l
m%m,awaﬁ?mw%wwmﬁwaﬁwa?ﬁmm%lm%%wuﬁwmumﬁmﬂﬁm%aﬁwﬁmmwmﬁ
St gl

= e, | e, 7 e, T "ie, 7 gdf, 7 ufdnht, 9 3@, T 3ol -9, 3-FRm, 3-uem, e srer $ R | HiF Fofl, ARy war yaiia gan awdt
T; 3% W O UG UH 3R ufaar- o AR siTa ®1 St $3d [avgd g & | 39w SufRifa | 1 3R §ed F By Tea wid & | a0 TR / W YA st
TR & BT FIgal B Jeraidl A fad &) 9 &1 AHEII IRE By TG §C IOV SS! YWY 3ed a8 g P 3T BT UM $Id & | 3TER & 49 S
TF HY A TE U & A7 W 1R T | SR F 3T | IR FHR gait 3R uddl 99 F Ted T F T § 1 TR F HH AR A 9 $) TH
a7 Sfta= UTe g 81 7A-3 AR e € e a1 R | 8 Tt H9Yd €1 8% 81 9 § | @ U A o HR T 81 2 A7 fer §1 oo vardl & Wy vw
a1 B0-UT9 Be usdl 21 Y, 9, 91, I8, URR, 9T, UTd, 7R, TR} 3R 91a® a% W U 4aqd G 4fd & o= g @ § | et aarenH @t wgwn sa-i
qaqd!, sﬂﬂah?ﬁaﬁ?sﬁutmm%ﬁ?mmwmw FT AIFTAUTIT SRR AT 37 TN Pt UTHT T P T T3 Ueltd Theil &1 3T B UTHT
fosa =81, Fae SmERur B AT 4T € STEda R

ITE TR B UgR -1 T 7T Y= BT Sk gargu
UR: SITERVT &5t e & 1 61 & g oft 7 =7 @2
1Ay
2. 97
3.9

4. s

Correct Answer :-

30) e, oo, wfaar, TR, o= 3R Iorg A +ft AR B Gaadr e SafaoHed 81 SATRRT B T B T $IP TP ST ATeHT Iromaif & feal w o
ST Y ST HH AT ¢ | 5T AT & o301 & el Aifeed, ok Ifta ot gy fufs: wrea &Yt 81 37 siffres 1g &Y wiman 8; e &1 R Rig-A ga s 8,
-t BT 9 I ST TR 916 €; I9IT gU &) IaT 8; 9 P AW 47 W1 §; IS 99F a1 & qiA T8 S0, T 999 R T 919 o1 ey SufRea
T SITAT 8 1 SITERVT Y IaTHg HINT el W Tgdt &1 39 HINT BT fE0g Yo Xad U= aral 8 | 399 1| & g off vreg =161 98 wamaRror Arg $ear ga ot
T4 B, e a1 goi +ft e & i fRyur 8, ¥ iran g o I & {R & iR usT 81 9g a9l 3t ey § Sreror 3t wugar 19 U @ et g8 8l
m;m,ﬁnsﬁvamm%wvwaﬁw%nﬁm%lm%aﬂaﬂwﬁﬂmmummﬁm%aﬁvwﬁmmwmﬁ
EicIE]

S o1a, 7 e, 7 dien, T e, 7 qdf, 7 ufinh, 7 3@, 7 <femh, 3-9m, 3-FRm, 3-aem, fa=na e $ merer § HiF o, R Ter e g Hdt
?; 39 1 A vga U SR ufmrar-av AR S $1 S e [agd 819 €1 suat SufRAfA [ 79 ok geg @Y By gea Wi €1 Freor el @ s 3R safdy
TR & BT FTGal B Jeraidl A fad 8 Jd &1 A IR Fy TG gU TOU SUD! YT 3ed a8 g P 3T BT UM $Id & | 3TER & A9 &
TP HY A T U F A7 W 1§ 1 TR0 F 3T | I R gai 3 uddl a9 F §ed T $3 @ § 1 TR F HiH ARSI § 999 $) T
a1 St wTw giaT 81 98- faeR T i vee g9 e ¥ 1 g $Te Tagd 81 81 8 9 €1 8 $ul A 9d HR ST 81 7 A7 fired §1 o uerdl & 9 U
a1 8-UT9 Fe v 8| g, 9, 91, T8, TR, U1, UTd, 7R, TR} 3R 910 d § Th AYaqd a3 qfd & o2 g1 @rd & | St sarear @t wgs sai
o, ga-t rdadt SR gai wuTaad! gt | % SHS WHA FT AIGUTHT, T AIREUTHT 3R T 39 X B YW 9 F U9 I3 Weild giel &1 39 SIS HIT
oo 1Y, aa ameRr FT = T E S B

IUYe TR B UGS A4 YD 7T U T SiX a1y
U SATERT Bt [T e &1 = ga S 22

1. STeTATY

2. TSTHART

3. e Ra-ax

4. galr Ag



Correct Answer :-

o AT Raa

Topic:- General Sanskrit(L2GS)

1)

TR=ae 9fScar 99aE ﬂagd;rdi T -

ca: AHsor: AMehel A | FAecdllued Ueell Aeier AFeol AralcHoda
qvafd T AP S35S: HIdT ToRIH: UedEd Uoedr: fguar:

qF:| GIsTT Mol APSOT FAAT TA| HPSURT AT haE: AYTAT
Ted Gduieddl  goe: &: sgiad: 3urd: Aigso] ARG Wdd| Wed
AFT god ARFA|  IHed F: ThAUREHA IHdeadd|  deTdRedete
AIPSUTTRTA FYIH T d goddl IURIH 3| FETAICTH 37T
draredrd IMehel UMGUINC| 37T HEIA, APSULIFa:|  Hadd HUcIig
I>ahdl T G T Wed HAegalide: P TN REPcd
TMpTHITTD |

3pY: APSURT FAHIG Icarded - § POOT | #7aTe HIH IPEd | 9
AGe: HE: GTARMAH  #dedl  APOETeRIAGEETIN T | Ao
HUCHE SleTeciald MFSUTeRTAl T el SHATH|

fafedgcdiedr: N T3 FARTESS] | AT: SNHSUH TaH 3Hace - Tail
FSUT | od HI AT IS | 369 (A5 | 3T 36A 31T 7Y 747 3
| ApSUsTed - JIH AT 6dd | TIRROT e |

$:?ﬂ§-ﬁf31'ﬂﬂﬁ?



e ufScar 9eaE ﬂagagcdi gIad -

a: AepSuT: el I | Foedlued Ucell Teier SeFeol AlJarcaeds
qvafd & AP S35 HIaT S JHeded Uoedr: QU
gF:| s Mol HAPsolT FAAT HTA| HNPSORT AT ha: AT
T ‘CF’-II'CI'IWI AL El_ezﬁﬁ 3URY: %WUT ﬂﬂﬁg daddl  9led
AP g ARMAIAI  3Hed T THAUTH HAeaddl  Uefdrpredrsi=

AIPSOTTRTA FAIH HART df goddl IURIH U] FEACTH T
dratedld adhel WIfRUN|  3ThT: HEA HPSUleicFc:|  heed ey
a>ghdl I ST THI  WWed IHAegalfde: 3l Toldl TEhcd
TMpTHITTD |

37pY: AIPSUET FAY Icdldeed - & POUT | #1de] HUIH 0TS | dd
AGe: P JARMAH  #dedl  APSOGRIAGETINT | Ao
FUCIE Sleediafd APFSUTTeRTHl TET HEdTH F A

fafedgcdiean: MiUPT: T FARES | dn: ANFSH TH 3Hace - T8t
ST | d HI AT TS | 369 (A5 | 3T 3EAR 30 7Y 747 3
| ApSUlsTed - JIH AT 6dd | TIPMROT e |

Tl & HIT AT e’ 37T H: 379E ?

L HET

p, Gl

A
o +

Correct Answer :-



Yol afScar srnNfAféscer vy gacc Faad -

TG HORIUT Fgfd HHAG |
SATRICARTOT AT I 7 AT A e rd ||
TERTAYGETET &d Ta HYY e |

gﬂﬁﬁﬂﬁﬁ@ﬂﬁ%ﬂﬂgw: I

ﬂ?mmsaaaaﬂl

Relhl fScar TeNfAfesedy TRaAvy AgHcal JaId -
&4l 8787 edledd hoolel o A |

ATEL HERAGoo S dreell UaT ||

lfhellsll TaRT ¥ TAON & gfdad |

faeam §9 HEITOM &7 ¥T UG ||

TEA' IAR—H 3UE: |

Prax

Y o q



Correct Answer :-

5)

TRede fScar 9eaTed AgdAca] FIad -

cd: ApSUT: IMehel I | AecdlIET Ucell TRMET AP AlJdlcode
Tvafd T AIPURY SI6: HIAT SeREA: JHedEd Uerdr: Ufeua:
q:| AIsfa Mpel Apsold TAAT add| APSIRT AT hd: HIAT
TIF«’i El?frtrlﬂ'e]?—[l E,;Q,‘: : a_gfﬁﬁ 393} &ﬁ%WUT ﬂﬂﬁjq HIIdd | q'{"_‘:',
AP goed ARMAIA|  Hed &: THAUGH HAeaddl  Ueqdrpredrsi=
APSUTRA FATH AT A gedd 3UHH APUA|  FEHITH 3Th
diaTeard INehel UIEUN|  3HF: Hgld ANPSoTFd:|  HEeT HUCIE
Ighdl T SEd T Wod eedilide: I TRl JEhcd
TMhTHITTS |

37T AFSURT THAY Icalded - § PO | o1dTel HH NS | dd
AlGel: A GJARMAHA  #dedl  APSUERIAGEIINT | Ao
U SAefedlafd AFSUTERTA T JTEdlTH A
fafedgedrear: MU T FATTTS | dn: AMFOH TaH e - T8l
FoUT | & FAU AN TS | 56 [v6 | 3iegen 3EAR 310 #epdd =77 sfa
| ApSUlsded - JIH T #7ad | TR I |

%@Wﬂ@azaz?




eeiiehl TfScar SreNfAfesesy Ieaed AGHAH Jadd —
EIUT 78T edledd hoolol o A |

ATEL 878G oo Tl 9T ||

Shifehellell T §G FHIOT T T |

facam & HETTOT &7AT T TURETT ||

3T Fifwery TIH |



e ufScar 9eaE ﬂagagcdi gIad -

a: AepSuT: el I | Foedlued Ucell Teier SeFeol AlJarcaeds
qvafd & AP S35 HIaT S JHeded Uoedr: QU
gF:| s Mol HAPsolT FAAT HTA| HNPSORT AT ha: AT
T ‘CF’-II'CI'IWI AL El_ezﬁﬁ 3URY: %WUT ﬂﬂﬁg daddl  9led
AP g ARMAIAI  3Hed T THAUTH HAeaddl  Uefdrpredrsi=

AIPSOTTRTA FAIH HART df goddl IURIH U] FEACTH T
dratedld adhel WIfRUN|  3ThT: HEA HPSUleicFc:|  heed ey
a>ghdl I ST THI  WWed IHAegalfde: 3l Toldl TEhcd
TMpTHITTD |

37pY: AIPSUET FAY Icdldeed - & POUT | #1de] HUIH 0TS | dd
AGe: P JARMAH  #dedl  APSOGRIAGETINT | Ao
FUCIE Sleediafd APFSUTTeRTHl TET HEdTH F A

fafedgcdiean: MiUPT: T FARES | dn: ANFSH TH 3Hace - T8t
ST | d HI AT TS | 369 (A5 | 3T 3EAR 30 7Y 747 3
| ApSUlsTed - JIH AT 6dd | TIPMROT e |

e o ?




eellht gfScar srenfaféscry e YeHcl Jaad -
&Il $1ETId ealed Shoolel O TG |

TTeN $18TACo= ST areell e ||
FIfReTAT TAA T TAOT T IfAaa |

faear ¥ HEaToT &TAT §G UG ||

aIT: & HeTId |

UallH

1. -
) ‘;ID_EI
3.

edlod
4.

Correct Answer :-



uTie ufScar geaey ﬂsqagcdi qIAd -

AR sTEAA AT HAOT godeda feafed| el aar o seafa
aedeT: Teufdfdedd| serAadsE [aearade geearaededr faead|
IETATSHH TAhCFaTT IAAGTOTS g RATTATHATTSAATAT > Ale -0
TIEd HIE: ATATeh: | AAUTATHH e TaHARAT §g TaTg®IT g
U fAarared gereed oieh:| & Sgar, Searamsasi
TTEITEEIEATSERT | 3T THRUT 3¢ T Ufsnf a5 Arasolas
ToTET T ATAGRT: | eaAe] Gl o PIsfT T2W: HEAATT 3T
TSI GET il Terafd|

AT Al FGd, HCUGeUAT d eelel faar o shersfr Ferafd
ureen: AU, fF a1 Afeey 3cmead, & ar  gHRImer:
AU, & a1 drieaed @G, 6 ar qRas: GeaidaoE, & ar
FUaaseEr= sivifgR: f& ar aeeg Fues, & asfadsr Jor:,

AdEecASelharsi  faar  gdur & @eEldl  geEantde:,
G WARRITET, e ATINCIE IO RATRTETT HaT 3T ETesT:

STATSITATE, 3ToTTeleciatae, [ Sheldl UTtedied |

glcah Siiael¥y @uqmchlﬁ a'g.’\i?r GeIIoT Hied, Wed for aifear geagde:
JEele el ? IET TR U AT ¥ J §ch shdel gediiol go¢ T,
A dRelied &THAd FSClood#| dhellld gRIXTAehed Hidall HcIAAFAH |

D o~



uTie ufScar geaey ﬂsqagcdi qIAd -

AR sTEAA AT HAOT godeda feafed| el aar o seafa
aedeT: Teufdfdedd| serAadsE [aearade geearaededr faead|
IETATSHH TAhCFaTT IAAGTOTS g RATTATHATTSAATAT > Ale -0
TIEd HIE: ATATeh: | AAUTATHH e TaHARAT §g TaTg®IT g
U fAarared gereed oieh:| & Sgar, Searamsasi
TTEITEEIEATSERT | 3T THRUT 3¢ T Ufsnf a5 Arasolas
ToTET T ATAGRT: | eaAe] Gl o PIsfT T2W: HEAATT 3T
TSI GET il Terafd|

AT Al FGd, HCUGeUAT d eelel faar o shersfr Ferafd
ureen: AU, fF a1 Afeey 3cmead, & ar  gHRImer:
AU, & a1 drieaed @G, 6 ar qRas: GeaidaoE, & ar
FUaaseEr= sivifgR: f& ar aeeg Fues, & asfadsr Jor:,

AdEecASelharsi  faar  gdur & @eEldl  geEantde:,
G WARRITET, e ATINCIE IO RATRTETT HaT 3T ETesT:

STATSITATE, 3ToTTeleciatae, [ Sheldl UTtedied |

glcah Siiael¥y @uqmchlﬁ a'g.’\i?r GeIIoT Hied, Wed for aifear geagde:
JEele el ? IET TR U AT ¥ J §ch shdel gediiol go¢ T,
A dRelied &THAd FSClood#| dhellld gRIXTAehed Hidall HcIAAFAH |

A faar FHaTor 7 feafea -



Yellhl afScar srenfafdscry weaey Al Faad -

TG PSRN FGf FAAG |
eliehlcToT AcAiTer i e fararaarefe ||

TERIINGaTET gd Ud HY e |
gaﬁﬁawuﬁaammm: I

AP0 Id: JEAGTT FOI: |



Correct Answer :-

¥ <ol gfocar NfATCSerT UReTEg YA I -
ISATG T FORTUT Fgfd HHAG |
alehlecToT Tt i fg faaraeasia ||
TERTANGETET gd Ud HE e |
AT T Fearg dfged T T ||

G 9oTd favgUeH 3¢ e1afd |



e ufScar 9eaE ﬂagagcdi gIad -

a: AepSuT: el I | Foedlued Ucell Teier SeFeol AlJarcaeds
qvafd & AP S35 HIaT S JHeded Uoedr: QU
gF:| s Mol HAPsolT FAAT HTA| HNPSORT AT ha: AT
T ‘CF’-II'CI'IWI AL El_ezﬁﬁ 3URY: %WUT ﬂﬂﬁg daddl  9led
AP g ARMAIAI  3Hed T THAUTH HAeaddl  Uefdrpredrsi=

AIPSOTTRTA FAIH HART df goddl IURIH U] FEACTH T
dratedld adhel WIfRUN|  3ThT: HEA HPSUleicFc:|  heed ey
a>ghdl I ST THI  WWed IHAegalfde: 3l Toldl TEhcd
TMpTHITTD |

37pY: AIPSUET FAY Icdldeed - & POUT | #1de] HUIH 0TS | dd
AGe: P JARMAH  #dedl  APSOGRIAGETINT | Ao
FUCIE Sleediafd APFSUTTeRTHl TET HEdTH F A

fafedgcdiean: MiUPT: T FARES | dn: ANFSH TH 3Hace - T8t
ST | d HI AT TS | 369 (A5 | 3T 3EAR 30 7Y 747 3
| ApSUlsTed - JIH AT 6dd | TIPMROT e |

Seledara’ sfd uq afeer: &: ?

) HauTGTH:
) ranfe:
gfg:

2
4.

Correct Answer :-



17)

URTIE IfScdl UReAET Y&HACR Jaad -

AR sTEAA AT HAOT godeta ffeafed| el aar o seafa
aede: feufafdead) seradsm faeameas= gaeaasgadr faead|
TEEATSHH TIHCFaEd IO &t ATt ST e -$1ome}
TIEd HIG: HATaTeh: | AAUTATHH drieaAre] TaHARRIT Jg TaTI®IT g
U fAarared geeed oieh:| & agar, dearamsasi

TR ATSERT | 31 THRUT 3¢ T s a8 Arasoias
ToTET T ATAGRT: | eeAe] Gl o FIsfT T2W: HEAATT 3T
TSI GET il Terafd|

TEASTIITT Al HAGd, CUGEUATT H eolel fdalT of shersfT Feafd|
ureeeT: AU, fF a1 Afeey 3cmead, & ar  gHeIerm:
fAATH, 6 a1 dreifcaeg gFucad, f& a1 gResa: gaafaaioE, &6 ar
FUaaseEr= sivifgrR: f& ar aeeg fFues, 6 asfaefsr dor:,

AaeAfReirarsir  faar  g@or 7 daafdl  qeedfEe:,
q{g:@dl%w&nal, gﬂfﬂﬂ?@ﬂﬂﬂmw gar 3fu ‘\gaﬁt-_ﬂ;r:

eTITeTIaTe, HSTeedede, fASheldl FTeidied |

glcah Siae¥y @uqmchlﬁ a'g.’\i?r GeIIoT Hied, Wed for aifer geadet:
JEelegecl? IET TR O AT ¥ J §ch shdel gedIiul go¢ TeFlTd,
A dRelied &THAd HSCload#| dhellld gRITAhel Hidell HegHAIFAH |

C AT | 3ET AT TH: o -



5, Teait

4, ol

Correct Answer :-

18)

TRTIE IfScar TRATT YGHcR JaId -

TR s AT THAMOT HANOT eeieia edfed| gaia fGar 7 Heaa
gedeT: feufafdead) seradism faegreaa=a gaeamaegadr faead|
IEEATSHH FIhCFaET AT Eeig: RATTATHATTSAATAT > ale -0
TTEd HIAG: AeTh: | AAUTATHA ey TaHRIAT §g TaeU®U0T T
U fotararef eersied oieh: | T agerm, TearamsEsi
TACATEISFATSERIT | Al UHRUT 3¢ ¥use ufdsfad Ig Adssias
ToTET T ATAGRT: | eaAel fdeT o PIs[T JeW: HEAATT 3T
FFSlIAITAT W ] TeTafd|

3fEA>TIfa Al HEd, TeUGeUATT & eolel faar o sharsf Heafd
greera:  AAH, fF a1 Afrcd 3cEeadA, & oar  ememm

faaAoH, fF a1 drfeaey deueas, & ar gRgey: geafaaoA, o ar
FUAidsrIe Sivifgr: f& a1 aered Aued, & asfaedan g,
AareAehasf@  faar  g@or a deafdl e,
G GRRATOT, el fATaTAIeIC {IqRUTEIThIET |aT T erHoT:
TATEITATG, 3TSTRTeReceide, fSheldl WTteid e |

g A GEaEE agiet Goaor wied, Weq ff @fe goadie:

TEIeleTercl? TET TR o= AT ¥ J §Tch hdel gedlfor g5¢ AT,
A AREATed &7 FSCloaA# | dhellid gRIXAehel hidell AcTHadlace |

‘Wz’mﬁm—




Correct Answer :-

gelloh! Ufscar srenfaféseesa veseg gﬁgcdi I -

TG HORIIT Fgfd A |
SAlelccTOT AT o T fararcaetd ||
TERIINGETTT od Ta AL Tl |
gﬂﬁﬁﬂwaﬁwa@w; I

3T T GeNTET 3UAT Hcl |

| GRIGT
 eRllefeRraTeTH

_ GRETGeH,

A UIBC A ICCE

Correct Answer :-

B UIEE A CICT



uTie ufScar geaey ﬂsqagcdi qIAd -

AR sTEAA AT HAOT godeda feafed| el aar o seafa
aedeT: Teufdfdedd| serAadsE [aearade geearaededr faead|
IETATSHH TAhCFaTT IAAGTOTS g RATTATHATTSAATAT > Ale -0
TIEd HIE: ATATeh: | AAUTATHH e TaHARAT §g TaTg®IT g
U fAarared gereed oieh:| & Sgar, Searamsasi
TTEITEEIEATSERT | 3T THRUT 3¢ T Ufsnf a5 Arasolas
ToTET T ATAGRT: | eaAe] Gl o PIsfT T2W: HEAATT 3T
TSI GET il Terafd|

AT Al FGd, HCUGeUAT d eelel faar o shersfr Ferafd
ureen: AU, fF a1 Afeey 3cmead, & ar  gHRImer:
AU, & a1 drieaed @G, 6 ar qRas: GeaidaoE, & ar
FUaaseEr= sivifgR: f& ar aeeg Fues, & asfadsr Jor:,

AdEecASelharsi  faar  gdur & @eEldl  geEantde:,
G WARRITET, e ATINCIE IO RATRTETT HaT 3T ETesT:

STATSITATE, 3ToTTeleciatae, [ Sheldl UTtedied |

glcah Siiael¥y @uqmchlﬁ a'g.’\i?r GeIIoT Hied, Wed for aifear geagde:
JEele el ? IET TR U AT ¥ J §ch shdel gediiol go¢ T,
A dRelied &THAd FSClood#| dhellld gRIXTAehed Hidall HcIAAFAH |

CAlacTded 9T T9Y: GAIAETD: -

22)
URIUT 3cayuerdver: THAE: 3I7ed-



eellehl gfdcar renfaféscry weaea ggdaca’ gaad -
&Y 8787 edled hoolol ?-f’;l_\':lc:ﬂﬁ |
TR $78TAC o] ST Tl TS ||
lTehellell T &Y FHOM & YidadH |
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® qolint ufsear srifafSsern yeaea UGHHN I —
14T 1870 ealed Shoolol T g |
TTeel HETGe= SIId dreeil ua ||
hIfehelloAT T G FHAI0T &Y GidadH |
facam T9 HEITOM &7AT T UG ||

HEUT 37T AT |

' oelienl afScar srenNfAfEserd v YR FIAd -

TITETT HONITOT FGfol FHAG |
SllehlecIToT cAife i e farareareta ||
TARIINGETET &g Td HLYY e |
TN T Gearg Alged T T ||

3T HER'UG A TFa |



Correct Answer :-
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2. C

o AdAT

Correct Answer :-

3.
. TEHUTRIT:

Correct Answer :-

| SIEHUTHI:

* FETHRAET TeT: &: ?
FHEUT:

1.



2.

Mo
3.

ar:
4,

Correct Answer :-

Mo

Topic:- Science (SCI)

1) Why are large poultry farms constructed? /
T3 FFFe BT 1 fawATor Ft R S @2
1. To raise broilers for chicken meat in large numbers. /
7t Aiw ¥ v e wer F sso A e i)
2. All the above facts . /
ST qfr deg
3. To develop very good hatchery for egg layers, in large numbers. /
I HET 7 33T &F & AT g T F @ a & R
4. There is low maintenance requirement for developing poultry. /

FeFpearel & fah & o f@e tEaE #i1 3mavgedn &q|

Correct Answer :-

« All the above facts . /

3WIFd Tl Iz

2) If the ratio between Iron (Fe) and Sulphur (S) in Iron sulphide (FeS) is 7:4 by mass and the total mass of it is 88 amu, what are the masses of
Feand S? /

I AT FEHIES (FeS) H IR (Fe) IR FewT (S) F T geqdle F1 Hqid 7:4 ¢ 3R $0H FoT geaaer 88 WA el
ATA® (amu) &, @ Fe 31X S & gegame & &2

1.Fe = 74amu & S =14 amu
2.Fe=72amu & S=16amu
3. Fe = 56amu & S =32amu
4. Fe = 50amu & S = 38 amu
Correct Answer :-

e Fe=56amu & S =32amu

3) Written examination is a/an

1. implementation / SrATeadsT
2. System / JUTTeT

3. function /?:I?Rf

4. technique / REDICT

of evaluation. / fafea 'Clﬁ&ﬂ, W Cal Th %I

Correct Answer :-

« technique / deheileh



4) To have a productive and engaging science learning experience, for children and adults alike, they can conduct small
experiments with guided instructions, like identifying rock specimens, watch insect metamorphosis, demonstrate chemistry
reactions, etc. This method involves? / T=aY IR TR F faT, T 3cUIEE 3k W}T e rfeer &1 31*{[313’
B & AT, & PR Al & arr ok vl #1 e W R § S TF A f ggEe w1, e
FTATAOT SGAT, T FTATHAT A defiad Fam, anfe) 3w R & anfde gar &2

1. Science Kits / faaieT fohe

2. Research Laboratory Experiments / 3TJHEITe TR JA1IT
3. Observatories / JYR VQ
4. Peer-to-Peer Teaching |/ TghHI-9-TghH! e

Correct Answer :-

. Science Kits / faaeT e

5) In the winter season, two thin blankets placed one over the other are better than a single blanket of same thickness because: /
wféal & Atasr #, Q) ad Fad tHF @Y F IW W A §, AF W AR I vF FaT F Q@ BT 7 Fi
1. The air in between the two layers will absorb more heat energy from the atmosphere /
al Wl & o B gar argHS @ S FEAT Fofl H IAMT Ha|
2. The air in between the two layer acts as a conductor /
gl WA & 1 T §aT U FAEH & §F H HA A ol
3. The air in between the two layers acts as an insulator /
& Ral & T T gaT U [qHAES F FH AT &
4. Thick blanket absorbs more heat energy from our body /

A dad gAN R ¥ 3WF arg FaT & 3gmR®a Fa &

Correct Answer :-

« The air in between the two layers acts as an insulator /

& Ral & T T gaT Uk [qHAES F FH AT &

6) What happens when a body covers 2m in every one second along a circular path? /

IR} ©F FFE, TAER 97 W IAF 93 F 2 A A gl a7 Far A FA A 2
1. The body has non-uniform speed. / @& &1 =are AT g

2. The body has uniform velocity. / AT FT 9T THTATT Bl

3. The motion is called non-uniform circular motion. / 31fa & A-TATA afﬂaﬁﬂ' afa hgl SIldr %l
4. The motion is called uniform circular motion. / 31T &I THGHTT 3‘_?I'IT=FIT afa hgl SIldr %’I
Correct Answer :-

« The motion is called uniform circular motion. / 31fa T THTHTT a(_?I'WTIT afa hgl SIldr %’I
7) The physical quantity which has the unit N/mZis: /

sitfarer amn o s N/m2aeh §

1. Force / §eT

2. Density / Helcd

3. Acceleration / caXoT

4. Pressure / Gdld

Correct Answer :-

e Pressure / Gdld



8) Sign langue is developed for: /

gikfas awT e # § e v el 6 o8

1. The mentally retarded children / ATITA® 9 ¥ HHGR sl & fow
2. The people with impaired hearing / 83

3. The children with high 1Q / 3&d Jef& 3Uclst/dr arel sedi & faT

4. The blind people / 379

Correct Answer :-

« The people with impaired hearing / 8%

9) lodine test is conducted for detecting: / 3TAET FH&TOT fFHFT a1 A & forw fFam svar &

1. Starch / Ter
2. Sugar / Q]

3. Protein / I
4. Glucose / ‘@GT

Correct Answer :-

« Starch/ T&RI

10) What are the two necessary conditions to be satisfied to say that work is done? /

IE Fed & AU & FE doea @ gH Y, A raedF ad 7= {2

1. Initially the body should be at rest and there should be an expenditure of energy. /
IR F Frrg A smaraedr F glar @R 3R Felt &1 37 g A@ifgul

2. There should be a force acting on the body and there should be a displacement in the direction of the body. /
e W I FRG g aifev 3R e & faer 7 fawums g amfee)

3. There should be a displacement for the body and there should be an expenditure of energy. /
e &1 [aFume g aifge AR Fat & 99 gl a@nfgul

4, A force should act on the body and there should be an expenditure of energy. /
T I foleha W SR g @ifev 3R Fot &1 ca g =@nlRul

Correct Answer :-

« There should be a force acting on the body and there should be a displacement in the direction of the body. /

P W g8 HRRT g AT 3R [ fr fGem & fJramma g=r arfgu]

11) An electrical device is rated 1000W. What is the amount of energy consumed by it in 5 hours? /

% Rega 39FOT F HeAiwa 1000w Bar sar @1 5 wel F @ud 1 a1 Far i AE F4AT g
1.1.8x 107

2.1.8x10%)

3.1.8x10°8)

4.1.8x10°)

Correct Answer :-

« 1.8x107)

12) In a lake, Maria swims 60m in half minute and returns to the starting point along the same path in another half minute. Find her average
speed and average velocity./



vw giter #, AR e fAere # 60 Hiew et ¥ 3R e MY e # e AN @ IRfE Rig W oale e ¥1 3w stwa aify
3 3itaa o AT F

1.2m/s & 0 m/s /2 Wex/A5s 3R 0 Hex/AHs

2.2m/s & 12 m/s / 2 WS iR / 2 Hex/Adhs
3.0m/s & 2m/s / 0 Hiex/Ahs 3R 2 Hie/Adhs
4.12m/s & 2 m/s / 12 Hiex/Ads 3R 2 Hiex/Ads

Correct Answer :-

« 2m/s &0 m/s /2 Hicy/Adbs 3R 0 He/Adbs

13) The period of a pendulum at a place depends on the: /
et Tuer W uE dgaw A aafr sw o el wel ¥
1. Mass and length of the pendulum /
Ugold & GegAl AR e
2. Mass and acceleration due to gravity at that place /
3 T W IBcdlhy0T & HROT GegaAlT AR cagor
3. Length of the pendulum and acceleration due to gravity at that place /
I M R Y0 & SR Tgad 3R @Rl &l dars
4. Length of the pendulum and shape of the bob /
g ) dard R a9 B STHR
Correct Answer :-

« Length of the pendulum and acceleration due to gravity at that place /

I WM R @By & HRU GgAH 3R TR B TaTg

14) Which of the following is not an example for the potential energy? /

famfaf@a & ¥ 71 Rufasr 3T &1 wF 3gmEor A #2

1. Energy possessed by a body inside a flying air craft. / T&h 35 331? e & 3ieX U A CaRT 9red ol
2. Energy possessed by a body placed at a height. / Tah ﬁ'lé’ W @ AT CART 9red Fall

3. Energy possessed by a compressed spring. / T FNET FHATAT CaRT 9red B

4. Energy possessed by a person lying on the ground. / &I 9T E §'E’ T cafed CART 9red Fatl|

Correct Answer :-

« Energy possessed by a person lying on the ground. / STHIT WX o §'E’ T&h ied CART 9red Fatl

15) In which of the following media, the speed of sound is maximum? /
ffafaa & ¥ fFa aegw |, aafa i afy wfwas o &
1. Water / STl

2. Aluminium / nagﬁﬁ’am

3. Air / a'l'{l_;

4. Oxygen / 3iFETSieT

Correct Answer :-

« Aluminium / TegHif@Ts
9

16) Muddy water can be purified by /
ufer STl F $HF GART YN FRAT ST wEar 7

1. Loading / ecTeT



2. Threshing / #STS

3. Sieving / TTelel

4. Winnowing / 3T &=t
Correct Answer :-

» Loading / olgTel

17) In the case of semiconductors, as the temperature increases, the resistivity . /
T & AH A, AW AIAET dear & ufAdewar |

1. increases / S&dl &

2. decreases / &H BT &

3. becomes zero / [T g ST §

4. remains constant / f&X BT &

Correct Answer :-

« decreases / ®H BT &

18) Select the correct statement from the following: /

PRl & & 898 I F1 99T FC

1. Unlike charges attract / fdoId 3maer 3mei¥a = £l

2. Unlike charges repel / oI 3maer Ifasha & &

3. Like charges attract / T& 3T 3ThINT A &1

4. Charges on a body cannot be discharged / Teh & W 3YRRYT At &7 fAdgsT S8 A S Thar g

Correct Answer :-

« Unlike charges attract / fquId 3maer ¥ ad &1

19) A screw gauge with nil zero correction gives the following reading when used to measure the diameter of a wire. Pitch scale reading = 0
mm and head scale reading = 52 divisions. Given that Imm on main scale corresponds to 100 divisions of the head scale. The diameter of
wire from the above data is: /

YT GUR FT U TF I TF aR & A H AGa & AT 37301 F o s w fArafaf@a 8T aar @) R as 8fFT = 0
el 3t &3 s 8fFw = 52 @) R o § B AT A9E F1 1 B, §3 ANF & 100 G F IR {1 IRET 39 § AR
FT A9 ¢

1.0.0052 cm / 0.0052 ¥
2.0.052 cm / 0.052 T
3.026 cm / 0.26 THT
4.0.52cm / 0.52 @Y

Correct Answer :-

« 0.052cm / 0.052 @Y

20) Find the thrust acting on a surface of .08m? if the pressure is 250Pa. /
Ifg gara 250Pa ¢ A .08m2 Y FAE W FRRG NG H AT F

1. 200N

2.31.25N

3.3125N

4, 20N

Correct Answer :-



21) Identify the acid present in red ants? /
ae difedl # 3ufeya 3va Y ggEe w2
1. Malic acid. / #oEeh 31Fa

2. Oxalic acid. / 3ifpafoes 31Far

3. Tannic acid. / & 31Fa

4. Formic acid. / W& 31Fe

Correct Answer :-

« Formic acid. / BIfHe& 31FeT

22) Identify the reaction/s in which physical state of a substance does not change during a chemical change. /
30 FAAFFAT F vgEE, e R teafae oReds & e Rl gared y siifas Rufa @@ aqed §1
1. All of these / 39gerc Tt
2. Water is subjected to electrolysis to form hydrogen and oxygen /
gregiolet 3R iferdisiel Sl & T urel & fega-3raaes fovar T §
3. Mercuric oxide is heated strongly to from mercury metal and oxygen /
T a1g 3R SRS ST & T FRegReE JiEETss # gaear & T R S §
4, Magnesium ribbon is burnt in air to form magnesium oxide /
HARRA 3iFaEss o6 F v AeTNRIT Red &1 gar & FToA=™T AT §
Correct Answer :-

+ Magnesium ribbon is burnt in air to form magnesium oxide /

AR 3iFass 9 F v ATNRIT Rad & gar & FTA=AT ST §

23) The effect of milk of magnesia on turmeric solution is: /
g & O W AERAT F g FT g Ig AT o
1. Yellow colour of turmeric solution first changes to pink then becomes colourless /
drer ST T gedy 1 Gel Tl I[eTel TN H See Sl &, TR Tl g S gl
2. Yellow colour of turmeric solution changes to blue colour /
el o1 1 gedl & el Aot {1 H F&el ST gl
3. Yellow colour of turmeric solution changes to reddish brown colour /
e T T GOl T AT B LT wae o ¥
4. No effect /
HIg gHTE e
Correct Answer :-

« Yellow colour of turmeric solution changes to reddish brown colour /

Aol T HT godr T Hlel Y W1 A TG AT B

24) The frequency of vibration of a string is 100 Hz. Then its period of vibration is: /
s R & & F gy 100 5&r B1 At Foer A rafy ¥

1.0.1s/0.1 G5

2.0.01s/0.01 ¥

3.10s/ 10 &3



4.100s / 100 Ths

Correct Answer :-

« 0.01s/0.01 953

25) The trophic level of secondary carnivores is /
geifaes ATETE #1 9o F X ¥

1. Third / rERT

2. Second / gEIT

3. Fourth / Ttam

4. Fifth / qraar

Correct Answer :-

« Fourth /=T

26) The pressure excreted by the liquid at the bottom of a vessel depends on : /

TF qdd & dd T alel GaNT 9T T g §6 W e @

1. Total area of the base of the vessel / ST & Tl T Fel TH |

2. Height of the liquid column present in the vessel / ST 7 3YRYT IRl TIH HT 3TadH del|
3. Inner surface area of the vessel containing liquid / el Jercl T T ATARH g5 e

4. Shape of the vessel / ScieT HT 3THR |

Correct Answer :-

« Height of the liquid column present in the vessel / FdiaT & 3UTETT TR TAH & ITAdH ool

27) Neutral compound/compounds among the following: /
AT & serile 3iffe /1 A fr ggam Hifew:

(i) CO, (ii) CO (iii) H,O (iv) CaO

1. (i) and (i) / () 3R (i)

2. (i) and (iii) / (i) 3 (iii)

3. (i) only / el (ii)

4. (i), (if) and (iv) / (i), (ii) 3 (iv)

Correct Answer :-

« (ii) and (iii) / (ii) 3R (iii)

28) Four identical vessels painted with four different colors are filled with water at 90°C. Which of the vessel will have the least rate of
cooling? /

mmmmmiﬁ#ﬁgﬁ%m%“mmﬁr*wﬁ#mgﬁ%lmqﬁ#aﬁaﬂaﬁaﬁﬂﬁm
ghafre

1. Vessel painted with red / @Tel 38T & T §'3-1T CIE]
2. Vessel painted with green / ¥ QT F @ §3-IT qr
3. Vessel painted with black / @Tel 38T & W §'3-IT CIE]
4. Vessel painted with white / At T[T F @ E_;'S-IT q

Correct Answer :-

+ Vessel painted with white / F%e T & LI g3 a1



29) Which among the following is a monobasic acid? /
=@ & @ = & AR v ¥

1. CoH,40,

2. H,CO;

3. H3PO,

4. HyPO;

Correct Answer :-

. CH40,

30) Which one of the following is not an alloy of Iron? /
frafaf@a & @ 7= ale &1 vw Fsnerg w6t 2

1. Solder. / dIesT

2. Stainless steel. / TTT TErel

3. Alnico. / UfceTahl

4. Nichrome. / faispier

Correct Answer :-

o Solder. / ATesT

31) Which of the statements about non biodegradable wastes is correct?

i. They are commonly man made.

ii. They can be degraded by micro organisms.

iii. The soluble non bio degradable wastes enter food chains and cause bio magnification.

iv. They do not accumulate in nature. /

el 3fdse & aR & Fla F FUT TE §?

L §ATAd: Ag AT g 1

i. ¥ A Shal garr g 7Y o awa €

iii o stafartiaoi afise @y s@en # W @ § 3R s9 smada ww@
iv. ¥ gHfa & F@Ra @@

1.iandiii /i 3R iii

2.iandii /i 3R ii

3. i and iv / iii 3R iv

4.iiand iv/ii 3R iv

Correct Answer :-

« iandiii /i 3R iii

32) Which of the following elements show malleability? /
ffafea # ¥ Fia-w1 aca smaTaadHar R §
1. Phosphorous / TITHRE

2. Todine / 3TAEA

3. Sulphur / HeHY

4, Zinc | S

Correct Answer :-

« Zinc / S

33) World Environment Day is celebrated on? / faea qfavor faw s A« A1aT 82



1.May5/5 #S

2.June 5 /5 ST

3. September 15 / 15 TR
4. April 27 / 27 T

Correct Answer :-

« June5/5 Sfet

34) Which physical property of Aluminium metal makes it possible for us to make Aluminium foils to wrap chocolates,
toffees and medicinal tablets? /

regfafaas uig & B o ot & FROT & 3EET gAT Aiwde, e S sty Mt & vegfAfaaw gl smaver &
ak 9T FT 9 #2

1. Malleability. / 3erdae=izar

2. Good electrical conduction. / fdege T Farershdr
3. Good thermal conduction. / ZSAT T FaTershdr

4. Ductility. / degar

Correct Answer :-

- Malleability. / 3mardad=fiaar

35) Which of the following statements represents the science manipulative skills of a student? / faf@a & 9 sl
W FIT TF B F AW & veeaarg e (Agafes Fwa) &1 vfafafta wwar g2

1. The student can differentiate between two related concepts. / ST ar afSd JTUROMAT & & 3adT FT ThdTl gl

2. The student can design a new experiment. / &1 Teh 1T 9T %ET%"H’ Y Hehdl %’I

3. The student respects his/her science teachers. / BT 39el AT TATHT T FFATT FIAT gl

4, The student uses the equipment in the lab within their limitations. / ¥4 St rareit § IgHR TANTRIET § IUSRVT DT IGINT HRAT B

Correct Answer :-

« The student uses the equipment in the lab within their limitations. / & O Tl & IgHR TERTIET H IUDBRUT BT IUUNT BT B |

36) Qut of the following options, choose the incorrect statement? / RFAfAT RHeal A V, ITT FUYT T IIA
sRTl

1. Inductive method of teaching is a constructivist model of teaching. / fre70T & IRTET [AfS, fA.T0T FT TH TATCHS
Asd &l
2. Inductive method of teaching is more student-oriented. / fre1or $r IREET [Bf 0w E'I?l'—?)?{l;@' %’I

3. Discovery learning theory promotes autonomy in learner. / 3=ayoT 37T&ITH iﬁajaia, 3feTARAT F TAIAAT T Seral
&ar Bl

4. Deductive method of teaching progresses from a specific concept to the general. / f1&ToT &r 9T afer, e fafase
HIYROT A AT H AR F&dr &l

Correct Answer :-

. Deductive method of teaching progresses from a specific concept to the general. / fI6T0T &1 fRTH= AT, T fAfdSe
HIYROT & AT &7 3R dedr &l

37) Write the given four colours in the ascending order of their wave length?

Yellow, Red, Green And Violet /



Ru 717 T/ @ F 37 RS F IR IR FA A fAE?
1. Violet, Green, Yellow, Red / §3T=iT, &, 9TelT, ofTel

2. Yellow, Red, Violet, Green / YTeIT, ITel, aﬁ'l?ﬁ, sl

3. Green, Yellow, Red, Violet / 3T, 9IaIT, &ITel, STt

4. Violet , Yellow, Red, Green / é‘n-rﬁ, e, a1, 831

Correct Answer :-

« Violet, Green, Yellow, Red / ST, &, 9elT, ofTel

38) The SI unit of power of a lens is: /
wF o @ afFd i ww.ad. s

1. Watt /dTc

2. Dioptre / 3TATEEX

3. Joule/second /GI(\T\-T/@?@

4. Joule / Sfel

Correct Answer :-

« Dioptre / 3T
39) What are the food requirements of dairy animals? / 338t T3t & &ioter $T HGRIFATC FAT §?
1. Mixed feed containing dry grass, grams and other roughages. /
Tl °rw, T 3R 3 A 9R @ @A e 6|
2. Nutritious feed with additives. /
AR & TT H difes: HT|
3. Fresh green grass. /
e & T |
4, The feed should include roughages and concentrates in balanced amounts. /
i 3 Fer TR SR B AT AR Hfrd A F FE Qe R
Correct Answer :-

« The feed should include roughages and concentrates in balanced amounts. /

HIsT & #Her TR 3UREYUd gl =g R Aol & & g glar @ifgvl

40) The intensity of the sound is related to:/

eaf F o o9 wafla @

1. Amplitude / 3IT=ITH

2. Frequency/H‘IT:!j?-T

3. Pitch / O

4. Wavelength / AT e

Correct Answer :-

o Amplitude / TATH

41) For which liquid/fluid in the body are the below mentioned features applicable?
« Cellular processes take place in this medium.

« Substances are transported from one part of the body to another in the dissolved form.



IR # 5w ga/ava vard & R i Sfcafea fayang oy gt 32

. 39 AW ¥ SR uftearg gt 21

. verd &t i o A ;R & T T & guy unT § ugarn o g
1. Blood / Xad

2. Water / STc1

3. Sugar solution / 9+ &1 O/

4. Salt solution / AU BT °Iel

Correct Answer :-

« Water / S

42) Rishi is open-minded but believes every theory put forward to him by his friends but rejects theories of his teachers. This primarily

shows a lack of: / B GA-fARY a1e § AP 98 ITF Il R ITS TUE IR & Rygid ! AT § AP A Rigradl &
Ryl @1 SRR HaT 81 98 T FU A Pt it 31 g=ifar 21

1. Respect for evidence / 18T & foT gFa=
2. Scepticism / GIdIG

3. Prejudice / ‘:lt\'Cﬁ?J%'

4. Objectivity / farsaerar

Correct Answer :-

. Objectivity / orsgeTar

43) The commonly found fish thatis a surface feeder is /

T =Y A UTE oF arelt ASel! P TP U8 e (9 BIs) &
1. Catla. / ahdlell

2. Mrigals. / #aTell

3. Rohu. / flﬁ

4. Common carp. /WW

Correct Answer :-

o Catla. / shdell

44) The electrical device used to measure the current through an electric circuit is: /

faggq ufvuy & Areny @ fagyq & 9vA F fore SuahT & |rar 914 aren fagga Suw-vr giar 8:
1. Voltmeter / @lec#eX

2. Electroscope / faegeeslt

3. Ammeter / 3THIER

4. Galvanometer / JedeliHIE

Correct Answer :-

« Ammeter / 3THIEX

45) The electronic configuration of an element is 2,8,1. The number of electrons that possess the least energy /
ot o &7 gagei® fa=a 2,8,1 81 ¥Q gage il @1 @ Red *gHaw St gl 8

1.2

2.0

3.1

4.8



Correct Answer :-

46) Which of the following method will be ideal for laboratory work in a class of 50 students? / fFHffad & ¥ i W fafy 50 o=
arell U HedT W TR & S & fore smexf gfi?

1. All of the students work on the same equipment at the same time. / gt B Uh éT HHY IR Th Eﬁ JUBU R BT HRd %'I

2. Students are divided into groups and different experiments are performed by each batch in a cyclic manner. / BT &1 TggI §
faora foran SITaT § SR Ud® 99 gR1 U I akids ¥ fafird et v St €

3. Students are divided into groups and the same experiment is performed by each batch. / BT @ THg! § fauTRTd fawar wman 8 SR
AP S gRT T & GANT fobar Sl 21

4. Only teacher demonstrates the experiment in front of the whole class. / Had & & T He I I TN UeRfd &=ar g1
Correct Answer :-

. Students are divided into groups and different experiments are performed by each batch in a cyclic manner. / BT &1 THg! &
faufra faran ST 8 IR U 99 gRT Us 99 aid 3 fafirs uaeT fse oimd €

47) Identify an atom with no neutrons from the following. /
Frafafea § @ g T WAy 91 ugar o1

1. Helium / @ifergar

2. Tritium / fefeas

3. Protium / 9ié=a

4. Lithium / fofags

Correct Answer :-

« Protium / Wi &=s

48) A small fire in the laboratory due to sodium can be put out by: / TNfSUH F SR TP TAITTAT H T4 gTeil Tp BT At
3T B 3P GRT THATIT ST Pl &

1. Using water / 9TaiT & CART

2. Using dry sand / [Sh T & CCIRY

3. Using moist soil / el fATEr & ganrT

4. Using CO, based extinguisher / CO, 3TYTRT XMAS & FUIANT GRI

Correct Answer :-

- Using dry sand / [5& Y & @RI

49) Collaborative learning approach develops which of the following skills in a learner? / TeanTe® SfERTH TS A
et & fFrafafea & 3 fra iva o1 e g 82

1. Social and Academic skills / @TATT 3R Ae1fOrm Sierer
2. Critical thinking skills / 3Tg=T TidsT ierer

3. Relationship among concepts / 3TTERUN3T & &g FaY

4, Interpretational skills / SATEITcHS 1Tl

Correct Answer :-

. Social and Academic skills / TS 3R derfores wlerar

50) Identify the human practice that results in soil pollution. /



W AT BraFeT ES TRUTATTET FaT Iguer {iT ¥, IA gEE
1. Deforestation / G-IE |

2. Dumping of sewage into water bodies / STdl At & 7a STerT

3. Use of large amounts of fertilizers and pesticides / §&I T T IRP! 3R Ple=ID! BT IUTNT|

4. Vehicular traffic / Al Uguur|

Correct Answer :-

« Use of large amounts of fertilizers and pesticides / S&T AT H IdRb! 3R BIeATRID! BT JUTNT|

51) Name the animal or product which does not provide vitamin D. /
39 U AT 3cUIG F AW qad A Rerffe & v adt Fwwar §
1. Fish / A

2. Eggs | 33|

3. Pork / G3N & &I

4. Cow’s milk / 3T T ¥ |

Correct Answer :-

e Pork / grmwnml

52) A student is able to fix a focal length measuring apparatus despite notreading about it as a problem on his
laboratory manual. This shows the useof which dimension of the cognitive process? / Tdh BT Th Bied FIETst A9 &
IUFHRUT B S B | V&M § Tafs 30 TIRTRIEAT A3 W TP U1 & €U A 39S IR § 981 UgT| I8 G-I uishar &
o Smamy & IuaT HY gRitar @2

1. Knowledge / <TeT

2. Applying / W?T

3. Evaluating / W C2G)

4. Creating / f¥#ATOT HEaT

Correct Answer :-

. Applying / 3-IT:|"§I'21>I?T

53) Which of the following statements does NOT distinguish hypothesesfrom theories in science? / fFafer@d & 9 &9
1 By, fagm F Ragial ¥ TRE a1 B 3renT 78 HdT 82

1. Hypotheses usually are relatively narrow in scope; theories broad explanatory power. / IR&eU=ITU IHAR 9 gAY &
3ETEHA FhIOT gl §; FAgHid 7 caIe caredTeHs At gt 8

2. Hypotheses and theories are essentially the same thing. / IR&edaATe 3R @Eﬁﬂ?—l’ e &7 F F & I §

3. Hypotheses are guesses; theories are widely accepted ‘correct’ answers. / IR&FeIATE AT & ﬁl?:\'ﬁil'l?f e & A
HEN 3R FHR BT S g

4. Theories are hypotheses that have been proved. / i@a\alra 3 gR&eu=T § Y aa\a g ?:Ifﬁf gl

Correct Answer :-

- Hypotheses and theories are essentially the same thing. / IRFeTATT 3T iﬁaﬁ-'l.la dfFad &7 & v & Ao §)

54) Which of the following can provide a non-formal learning experience tostudents? / fFrafafaa § § 19 s # R-
Stuaifie SIftRT SFvE Ue $R Tdar 82

1. Summer holiday written assignments / IHf Y o< <Al # Gar S arer fof@a waﬁem
2. Multiple choice question based test in class / & 3 agﬁao—c»cm 9o 3TUTRA 9raT

3. Science clubs / @< Fold



4. Conducting experiments in the laboratory / TARTRITGAT H TRNT T Hame

Correct Answer :-

. Science clubs / Ta=TeT Ferar

55) <Child-centred’ pedagogy means: / ‘STel-$iegd’ RIememET #1 31 §:

1. Teacher dictating the children what should be done / et STat &1 HTAT & %’ o FFar frar srar anfgwl
2. The teacher leading the learning in the classroom / V& sheqr & f&erT & 3r9roft 33@75[ [GEIGIES

3. Children are active participants in their own education and development / ST 39=iT 8T 3R fawra & afshT
sefierdr fovema €

4. Children follow a prescribed information / ST T fFUTRA JATHRT 7 el HA gl

Correct Answer :-

« Children are active participants in their own education and development / §Td 379=1T T2r&TT 3R fawra & g
Frefigrr e €

56) Burning sensation in stomachisdueto____ ./9C & STelel &T HROT _____ &

1. Indigestion / 39T

2. thirst / ©ITH

3. digestion / 9Tdel

4. Hunger / (@

Correct Answer :-

« Indigestion / 39T

57) What is the natural habitat of Cactus?/
Faew FT IIFfaF IEw T4 §?

1. desert / YAEdRT

2. clayey land /ﬂﬁiﬁ Siﬁl'

3. Water / el

4. land / Sﬂfﬂ

Correct Answer :-

« desert / YrEarT

58) Which of the following statements does not follow the scientific method? / Frfaf@a & @ Fia a1 Faa dafaw
qeufd &I uTeleT 7ET FIaT §?

1. Da Vinci’s art should be costlier than Michelangelo’s art. / &T 3= &1 war W@Fﬂ' N FoT T ?FIE?ﬁ' BT AT

2. The heliocentric model should replace the geocentric model of the solar system. / E}‘I’ Fealg iﬁaja d (gfoafees Afs)
I | 9oTell & $-Alse I Gfaeaa & aifgu

3. Einstein’s theory of relativity triumphs over Newton’s theory of gravitation. / 3T&ECIT o TTYETdT & @a\‘a'a, sl &
TRcdThyUT o ffetid W faera grod o &

4, Photosynthesis produces more oxygen than respiration. / eIl TReIYUT, 298] & 3H&H JTFHISTT T 3cUeA T gl

Correct Answer :-

. Da Vinci’s art should be costlier than Michelangelo’s art. / &l 3= &1 &ar W@Fﬂ' N FoT T ?FIE?ﬁ' giT AT



59) Identify the substance which can be easily compressed by applying pressure on it. /
ZaTd ST WA & FFfAa Bl I wFa A gerd fr g w0

1.1ce. /| 9%

2. Carbon dioxide gas. / =T STS3iFaSs AT

3. Sugar crystals. / 2T fpEeer

4. Water. / STeT

Correct Answer :-

« Carbon dioxide gas. / el SB3FAES AT

60) Which of the following is not an example of ICT resources? / [aferad # I P \NT'&"Qﬁa HHTYAY BT Uh ISIeI0T gl &
1. Social networking website / HTHTToTh FAeafder LR3I

2. Science blog / IEEIGRCIEN

3. Science magazine / ICEIGECIEED]

4. Podcast / GISHIEE

Correct Answer :-

« Science magazine / faaTe aferr



